SSC JE
General

Awareness

CIVIL/Electrical/Mechanical
SOLVED PAPERS

Chief Editor
A. K. Mahajan
Compiled by

Exam Expert Group

Editorial Office
12, Church Lane Prayagraj-211002
(3 Mob. : 9415650134
Email : yctap12@gmail.com
website : www.yctbooks.com / www.yctfastbooks.com
© All rights reserved with Publisher

Publisher's Declaration
Edited and Published by A.K. Mahajan
and printed R.A. Security Printers, Prayagraj. for YCT Publications Pvt. Ltd.
In order to Publish the book, full care has been taken by the Editor and the Publisher,

still your cooperation and suggestions are needed.
In the event of any dispute, the Judicial area will be Prayagraj.




CONTENT

2018
Civil Engineering

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) .7-12
CIVIL Engineering [Time : 10.15 am, Exam Date : 22 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) ....cccceicrveressnnrcscsncscnsessasresssesenns 13-18
CIVIL Engineering [Time :3.15 pm, Exam Date : 22 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 19-25
CIVIL Engineering [Time : 10.15 am, Exam Date : 23 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 26-32
CIVIL Engineering [Time :3.15 pm, Exam Date : 23 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 33-38
CIVIL Engineering [Time : 10.15 am, Exam Date : 24 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 39-43
CIVIL Engineering [Time :3.15 pm, Exam Date : 24 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 44-48
CIVIL Engineering [Time : 10.15 am, Exam Date : 25 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 49-54
CIVIL Engineering [Time :3.15 pm, Exam Date : 25 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 55-60
CIVIL Engineering [Time : 10.15 am, Exam Date : 27 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 61-66
CIVIL Engineering [Time :3.15 pm, Exam Date : 27 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 67-72
CIVIL Engineering [Time : 10.15 am, Exam Date : 29 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 73-78

CIVIL Engineering [Time :3.15 pm, Exam Date : 29 January, 2018]

Electrical Engineering

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 79-84
ELECTRICAL Engineering [Time : 10.15 am, Exam Date : 22 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) ....cccceicrveressnnrcscsncscnsissassesssesenns 85-90
ELECTRICAL Engineering [Time :3.15 pm, Exam Date : 22 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 91-97
ELECTRICAL Engineering [Time : 10.15 am, Exam Date : 23 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 98-104
ELECTRICAL Engineering [Time :3.15 pm, Exam Date : 23 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 105-110
ELECTRICAL Engineering [Time : 10.15 am, Exam Date : 24 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 111-115
ELECTRICAL Engineering [Time :3.15 pm, Exam Date : 24 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 116-120
ELECTRICAL Engineering [Time : 10.15 am, Exam Date : 25 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 121-126
ELECTRICAL Engineering [Time :3.15 pm, Exam Date : 25 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 127-132
ELECTRICAL Engineering [Time : 10.15 am, Exam Date : 27 January, 2018]

B SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES) 133-138

ELECTRICAL Engineering [Time :3.15 pm, Exam Date : 27 January, 2018]
2




SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)
ELECTRICAL Engineering [Time : 10.15 am, Exam Date : 29 January, 2018]

SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

ELECTRICAL Engineering [Time :3.15 pm, Exam Date : 29 January, 2018]

Mechanical Engineering
SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time : 10.15 am, Exam Date : 22 January, 2018]
SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time :3.15 pm, Exam Date : 22 January, 2018]
SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time : 10.15 am, Exam Date : 23 January, 2018]
SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time :3.15 pm, Exam Date : 23 January, 2018]

SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)
MECHANICAL Engineering [Time : 10.15 am, Exam Date : 24 January, 2018]

SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time :3.15 pm, Exam Date : 24 January, 2018]

SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)
MECHANICAL Engineering [Time : 10.15 am, Exam Date : 25 January, 2018]

SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time :3.15 pm, Exam Date : 25 January, 2018]
SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time : 10.15 am, Exam Date : 27 January, 2018]
SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time :3.15 pm, Exam Date : 27 January, 2018]
SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)

MECHANICAL Engineering [Time : 10.15 am, Exam Date : 29 January, 2018]

SSC Junior Engineer Online Exam 2018 (CPWD/CWC/MES)
MECHANICAL Engineering [Time :3.15 pm, Exam Date : 29 January, 2018]

2019
Civil Engineering
SSC Junior Engineer Online Exam 2019 (CPWD/CWC/MES)

CIVIL Engineering [Time : 10 am, Exam Date : 23.09.2019]

SSC Junior Engineer Online Exam 2019 (CPWD/CWC/MES)
CIVIL Engineering [Time : 3 pm, Exam Date : 23.09.2019]

SSC Junior Engineer Online Exam 2019 (CPWD/CWC/MES)

CIVIL Engineering [Time : 10 am, Exam Date : 25.09.2019]
Electrical Engineering

SSC Junior Engineer Online Exam 2019 (CPWD/CWC/MES)....cccccevevverercnercsennenes

ELECTRICAL Engineering [Time : 10 am, Exam Date : 26.09.2019]
SSC Junior Engineer Online Exam 2019 (CPWD/CWC/MES)

ELECTICAL Engineering [Time : 3 pm, Exam Date : 26.09.2019]
Mechanical Engineering

SSC Junior Engineer Online Exam 2019 (CPWD/CWC/MES)....ccccceververescnercsennenes

MECHANICAL Engineering [Time : 10 am, Exam Date : 27.09.2019]

SSC Junior Engineer Online Exam 2019 (CPWD/CWC/MES)
MECHANICAL Engineering [Time : 3 pm, Exam Date : 27.09.2019]

SSC Junior Engineer Online Exam 2019 (CPWD/CWC/MES)

MECHANICAL Engineering [Time : 10 am, Exam Date : 25.09.2019]

139-143

144-149

150-155

156-161

162-168

169-175

176-181

182-186

187-191

192-197

198-203

204-209

210-215

216-221

222-227

228-232

233-238

239-243

244-248

249-254

255-260

261-266

3



2020
Civil Engineering

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) .....uciivvercrsercscnnncnes 267-272
CIVIL Engineering [Time : 3-5 pm, Exam Date : 11.12.2020]

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ..ccueercescrnnrecsssnsnees 273-278
CIVIL Engineering [Time : 10-12 pm, Exam Date : 30.10.2020]

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ..cuuereescnnrrcsssnsneces 279-284
CIVIL Engineering [Time : 3-5 pm, Exam Date : 30.10.2020]

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ...cuueeiecscrnnrrcsssnsnees 285-290
CIVIL Engineering [Time : 10-12 pm, Exam Date : 29.10.2020]

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ......ueiivvercrcuercscnencnes 291-296

CIVIL Engineering [Time : 3-5 pm, Exam Date : 28.10.2020]
Electrical Engineering

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ..cccceereescrnnrrcsssnsneces 297-301
ELECTICAL Engineering [Time : 3-5 pm, Exam Date : 29.10.2020]

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ...ueerecscnnrrcsssnsnees 302-306
ELECTICAL Engineering [Time : 10-12 pm, Exam Date : 28.10.2020]

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ......ucievvercrcuercscnencnes 307-311

ELECTICAL Engineering [Time : 3-5 pm, Exam Date : 10.12.2020]
Mechanical Engineering

SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ..ccueercercrnnrrccssnsneces 312-317
MECHANICAL Engineering [Time : 10-12 pm, Exam Date : 11.12.2020]
SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ..ccueeiecscrnnrrcsssasnees 318-322
MECHANICAL Engineering [Time : 10-12 pm, Exam Date : 27.10.2020]
SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ...cueeieescnnrecssssnsneces 323-327
MECHANICAL Engineering [Time : 3-5 pm, Exam Date : 27.10.2020]
SSC Junior Engineer Online Exam 2020 (CPWD/CWC/MES) ....ccocverervuercscnercsnnces 328-332
MECHANICAL Engineering [Time : 3-5 pm, Exam Date : 28.10.2020]
2021

Civil Engineering
SSC Junior Engineer Online Exam 2021 (CPWD/CWC/MES.......ccccervercrcnrrcscnenes 333-337
CIVIL Engineering [Time : 10-12 am, Exam Date : 23.03.2021]
SSC Junior Engineer Online Exam 2021 (CPWD/CWC/MES) ...cccovvuerrecscnnreccsnnnes 338-342

CIVIL Engineering [Time : 2-4 pm, Exam Date : 23.03.2021]
Electrical Engineering

SSC Junior Engineer Online Exam 2021 (CPWD/CWC/MES.......cccccervercrcnnrcscnenes 343-347
ELECTRICAL Engineering [Time : 10-12 am, Exam Date : 24.03.2021]
SSC Junior Engineer Online Exam 2021 (CPWD/CWC/MES) ...cccoverercuercrcnercsneees 348-352

ELECTRICAL Engineering [Time : 2-4 pm, Exam Date : 24.03.2021]
Mechanical Engineering

SSC Junior Engineer Online Exam 2021 (CPWD/CWC/MES......ccocvveicesvrnnrecsscnnnes 353-357
MECHANICAL Engineering [Time : 10-12 am, Exam Date : 22.03.2021]
SSC Junior Engineer Online Exam 2021 (CPWD/CWC/MES) ....ccocverercuercrcnercsnnees 358-363

MECHANICAL Engineering [Time : 2-4 pm, Exam Date : 22.03.2021]

4



2022
Civil Engineering

SSC Junior Engineer Online Exam 2022 (CPWD/CWC/MES) ....ccccverervuercscnercsnnees 364-369
CIVIL Engineering [Time : 10-12 pm, Exam Date : 16.11.2022]

SSC Junior Engineer Online Exam 2022 (CPWD/CWC/MES) ...cccovvueriecssnnrecssnnnes 370-374
CIVIL Engineering [Time : 5-7 pm, Exam Date : 15.11.2022]

SSC Junior Engineer Online Exam 2022 (CPWD/CWC/MES) ...cccovvueriecscnnrecsscnnnes 375-379
CIVIL Engineering [Time : 10-12 pm, Exam Date : 15.11.2022]

SSC Junior Engineer Online Exam 2022 (CPWD/CWC/MES) ....ccccverercurrcscnercsnnees 380-385

CIVIL Engineering [Time : 10-12 am, Exam Date : 14.11.2022]

Electrical Engineering

SSC Junior Engineer Online Exam 2022 (CPWD/CWC/MES) ..ccccovvueriecssnnraccssnnnes 386-391
ELECTRICAL Engineering [Time : 5-7 pm, Exam Date : 16.11.2022]

Mechanical Engineering

SSC Junior Engineer Online Exam 2022 (CPWD/CWC/MES) ....ccocverervuercrcnercsnenes 392-396
MECHANICAL Engineering [Time : 2-4 pm, Exam Date : 16.11.2022]
SSC Junior Engineer Online Exam 2022 (CPWD/CWC/MES) ....ccoverercuercscnercsneees 397-400
MECHANICAL Engineering [Time : 1-3 pm, Exam Date : 14.11.2022]
2023

Civil Engineering
SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ...cccovvuerrecssnnrecssnnnes 401-404
CIVIL Engineering [Time : 9-11 am, Exam Date : 9.10.2023]
SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ...cccovvueriecssnnreccscnnnes 405-408
CIVIL Engineering [Time : 9-11 am, Exam Date : 10.10.2023]
SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ....ccoccerercuercrcnercsnnees 409-413
CIVIL Engineering [Time : 5-7 pm, Exam Date : 10.10.2023]
SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ....ccocverercuercrcnercsnnces 414-418

CIVIL Engineering [Time : 9-11 am, Exam Date : 11.10.2023]
Electrical Engineering

SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ...cccovverrecssnnreccsnnnes 419-423
ELECTRICAL Engineering [Time : 5-7 pm, Exam Date : 9.10.2023]

SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ....cccccerercunrcrcnercsnnees 424-430
ELECTRICAL Engineering [Time : 1-3 pm, Exam Date : 10.10.2023]

SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ....ccccverercuercrcnercsnenes 431-436

ELECTRICAL Engineering [Time : 5-7 pm, Exam Date : 11.10.2023]
Mechanical Engineering

SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ...cccovvuerrecscsnnrecsscnnnes 437-442
MECHANICAL Engineering [Time : 1-3 pm, Exam Date : 9.10.2023]
SSC Junior Engineer Online Exam 2023 (CPWD/CWC/MES) ....ccocverercuercrcnercsnnees 443-448

MECHANICAL Engineering [Time : 1-3 pm, Exam Date : 11.10.2023]

5



SSC Junior Engineer Syllabus
CIVIL/ELECTRICAL/MECHANICAL

The Examination will be conducted in two stages—
A. Paper-I (Pre) (200 marks) (Objective)
B. Paper-II (Mains) (300 marks) (Descriptive)
Total Written Test (500 marks)

Written Test :

Paper Subject Max. Marks Duration & Timing
Paper-1 (i) General Intelligence & Reasoning 50 2 Hours
Objective (i1) General Awareness 50
type (iii) General Engineering (CIVIL) 100
Paper-II General Engineering (Specific 300 2 Hours
Conventional | Subject)

There will be negative marking of 0.25 marks for each wrong answer in Paper-I. Candidates are,
therefore advised to keep this in mind while answering the questions. Paper-1I will be of Descriptive

Type.
SSC JE Svllabus of Examination

B Indicative Syllabus: The standard of the questions in Engineering subjects will be
approximately of the level of Diploma in Engineering (Civil/ Electrical/ Mechanical) from a
recognized Institute, Board or University recognized by All India Board of Technical Education. All
the questions will be set in SI units. The details of the syllabus are given below.

Paper-1

B General Intelligence & Reasoning: The Syllabus for General Intelligence would include
questions of both verbal and non-verbal type. The test may include questions on analogies,

similarities, differences, space visualization, problem solving, analysis, judgment, decision making,
visual memory, discrimination, observation, relationship concepts, arithmetical reasoning, verbal and
figure classification, arithmetical number series etc. The test will also include questions designed to
test the candidate’s abilities to deal with abstract ideas and symbols and their relationships,
arithmetical computations and other analytical functions.

B General Awareness: Questions will be aimed at testing the candidate’s general awareness of
the environment around him/her and its application to society. Questions will also be designed to test

knowledge of current events and of such matters of everyday observations and experience in their
scientific aspect as may be expected of any educated person. The test will also include questions
relating to India and its neighbouring countries especially pertaining to History, Culture, Geography,
Economic Scene, General Polity and Scientific Research, etc. These questions will be such that they
do not require a special study of any discipline.
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Time : 10-15 am]

[Exam Date : 22 January, 2018

General Knowledge
1. Preliminary expenses are the examples of......
(a) Capital expenditure
(b) Capital gain
(c) revenue expenditure
(d) deferred revenue expenditure

Ans. (a) : Capital expenditure is the example of]
preliminary expenses. Capital expenditures are those
governmental expenditure, which is helpful in making
the physical and financial assets. These expenditures
includes the building construction, dams, Railways,
Industrial development etc. It is done irregularly. It is
called the developmental expenditure. In the budget
document, the gross capital expenditure has been
divided into two categories—(1) Non-planned capital

expenditure, (2) Planned capital expenditure.

2. Which economic activity cannot be included in
the tertiary sector?

(a) Working in a call-centre

(b) Tuition occupation

(c) Bee-keeping

(d) Banking
Ans. (¢) : In economy, the economic sectors has been
divided into three parts—

(1) Primary sector-These includes agriculture,
forestry, animal husbandry, fisheries, Bee keeping,
mining and quarrying.

(2) Secondary sector-These includes industries like
sugar, textiles etc. and the manufacturing.

(3) Tertiary sector—This is basically called the service
sector. This includes mainly banking, insurance,
transport, telecom, tuition occupation, working in the
call centre etc. Hence the option (c) the Bee-keeping
falls under primary sector.

3. Which of the following statement is true for the
Public Sector Unit?

(a) Most of assets is owned by a group of people
(b) Most of assets is owned by big companies
(c) Most of assets is owned by government

(d) Most of assets is owned by an individual

Ans. (¢): Public sector units includes all those industrial
and commercial enterprises which is owned and
managed by the government or by any other agency
assigned by the government. Hence the assets of public
sector units are mostly in government ownership. The

public sector provides basic facilities like defence,
energy, iron and steel, coal, journey by air etc. It is
remarkable that Pandit Jawahar Lal Nehru named the
public sectors as the 'temples of modern India'.

4. The percentage of India’s population in the
total population of the world as per 2011 census
| L

(a) 17.5% (b) 18.01%

(c) 19.35% (d) 20.25%
Ans. (a) : According to the census of 2011 the total
population of India is 121.5 crore which is 17.5% of]
world's total population. In India, states with higher
population are — U.P., Maharashtra, Bihar, West
Bengal, Andhra Pradesh.

5. Which of the following five year plan of India
recognized human development as the core of
development efforts?

(a) Eighth five year plan
(b) Ninth five year plan

(c) Tenth five year plan
(d) Eleventh five year plan

Ans. (a) : Eighth five year plan (1992-97) was based on
the John W. Muller model of influence in the form of
emphasis on infrastructure. In this plan the human
resource development was the essence of all
developmental efforts and the theme was 'Development
of human resource'. It is important that India became a
member of the W.T.O. on 1% January 1995 during this
plan.

6. Which of the following thinker is associated
with “the concept of political sovereignty?

(a) Maclver (b) Socrates
(c) Rousseau (d) Plato

Ans. (c¢) : Rousseau was a great philosopher and
thinker, who was born on 1712 A.D. in Geneva.
Rousseau is associated with "the concept of political
sovereignty" Rousseau says that "Man is born free, and
every where he is in chains." Rousseau's famous
compositions are — (i) The Social Contract, 1762,
(2) Dialogue, (3) An Introduction to Political Economy,
1758

7. Who said, “A good citizen makes a good state
and a bad citizen makes a bad state”?
(a) Plato (b) Aristotle
(c¢) G. B. Shaw (d) Rousseau

SSC JE Online Civil 2018 (Ex. date 22 1. 2018) 10.15 am



Ans. (b): Aristotle's statement was that "A good citizen
makes a good state and a bad citizen makes a bad state."
It is important that Aristotle was a famous Greek
Philosopher, a pupil of Plato and the teacher of]
Alexander the great. Their greatest composition is
'Politics'. Aristotle has considered the family as a
natural body.

8. Panchayat Samiti at the block level in India is

(a) Advisory Body

(b) Coordinating Authority only
(c) Supervisory Authority only
(d) Administrative Authority

Ans. (d) : In India the Panchayati Raj system has three
levels — Gram Panchayat at village level, Panchayat
Samiti at Block level and Zila Parishad at District level.
The Panchayat Samiti at Block level is an
administrative authority. It has power of functioning of
all developmental works in their respective areas. It can
function the works related to education, health,
agriculture and village industries.

(3) 4™ Schedule - Allocations of seat in the
Rajya Sabha

(4) 10" Schedule — Anti-defection law.
Note — Form of Oaths or Affirmation has been
described in 3" Schedule.
11. When did the Chinese traveler ‘Sung Yun’
come to India?
(a) 510 AD (b) 518 AD
(c) 525 AD (d) 528 AD
Ans. (b) : Chinese traveler 'Sung Yun' came to India in
518 A.D. and collects many Buddhist text during their
three year stay.

It is noted that Fa-hsien, Hsuan Tsang and I-tsing were
other chinese traveler who visited India. Fa-hsien came
in the reign of chandra gupta II Vikrmadity (375-415
A.D.). Hsuan Tsang came in the reign of Harshvardhan
in around 629 A.D.

12.

Which among the following state ‘Odantpuri’
education center was situated?

(a) Bengal (b) Gujarat
(c) Bihar (d) Tamil Nadu

9. According to Indian Constitution, who decides
the Salary of members of Parliament?

(a) Unions Council of Ministers
(b) Parliament

(¢) Supreme Court

(d) President of India

Ans. (b) According to article 106, of Indian
Constitution the parliament will decide the salary and
allowances of every members of parliament. It is
important that to be elected as a member of parliament
one must be — a citizen of India. For the membership of]
Rajya Sabha age must not be less than 30 years and 25
years in the case of Lok Sabha.

10. Which one of the following is not correctly
matched?
(a) Eighth Schedule: Languages
(b) Second Schedule: Form of Oath of office
(c) Fourth Schedule: Allocation of seats in Raiya
Sabha
(d) Tenth Schedule: Defection related provisions
Ans. (b) :
Schedule Related Subjects
(1) 8" Schedule  — Languages
(2) 2" Schedule  — Provisions relating to

President, Governor, Speaker
and Deputy Speaker of Lok
Sabha, Chairman and Deputy
Chairman of Rajya Sabha,
Judges of Super Court and
high Court etc.

Ans. (¢) : "Odantpuri”" education center was situated in
Bihar. According to some scholar the famous Budhist
monastery of Odantpuri (Bihar) was built by Devapala
who was a follower of Buddhism. In texts he adorned of]
'Paramsaugat'.

13.

Who was the founder of Bahmani Kingdom?
(a) Hasan Gangu (b) Firoz Shah
(c) Mahmud Gawan (d) Asaf Khan

Ans. (a) : In Decean (South India), the Bahmani
kingdom had come into existence in 1347, the later
period of Muhammad Bin Tughlaq, by an Afghan
adventurer Gangu who assumed the title of Alauddin
Hasan Bahaman Shah. He made Gulburga the capital of]
newly established empire and renamed it Ahsanabad —
Later in 1425 Bidar became its capital.

14.

During whose rule in India did the Khilafat
movement begin?

(a) Lord Mountbatten  (b) Lord Dalhousie
(¢) Lord Chelmsford (d) Lord Curzon

Ans. (¢) : Khilafat and non-cooperation movement has
started in the period of Lord Chelmsford (1916-21
A.D.). The other events in this period are—(i) Rowlatt
act of 1919, (ii) Jaliyanwala bagh massacre in 13th
April, 1919, (3) Sadler Commission in 1917 to enquire
about Calcutta University.

15.

Who among the following was the founder of
the Arya Mahila Samaj in the early 1880s?

(a) Swami Dayananda Saraswati
(b) Swami Vivekananda

(c) Ramabai Ranade

(d) Pandita Ramabai

SSC JE Online Civil 2018 (Ex. date 22 1. 2018) 10.15 am



Ans. (d): Arya Mahila Samaj was established by
Pandita Ramabai in 1881 in Pune. In 1889 Ramabai
established Sharda Sadan for widows. Pandita Ramabai
was a famous social worker as well as a great scholar.
She traslated Bible into Marathi.

16. Dasht-e Kavir Desert is located in which
country?
(a) Iran (b) Saudi Arab
(c) Iraq (d) Sudan

Ans. (a) : Dasht-¢ Kavir and Dasht-e Lut both desert
are situated in Iran. Iran is a country in west Asia. The
highest peak of Iran is Mount Demavand which is
situated in Elburz mountains. It is important that in Iran
the major irrigation portion is covered by the Qanat
canal which is made by under ground tunnels.

17.

Which of the following layers is called

“Barysphere”?

(a) Earth’s most internal layer
(b) Earth’s intermediate layer
(c) Earth’s topmost layer

(d) Lowest part of the atmosphere where climate
changes occur

Ans. (a) : On the basis of seismic waves the earth's

layer has been divided into three parts—

(i) Lithosphere— This is upper most part of earth's
surface which is also called Sial. Its

thickness is observed of around
100Km.

(i) Pyrosphere— This layer is also called the mag
mosphere. It contains excess of]
basalt. Its thickness is upto 2880 Km.

(iii) Barysphere— This is the innermost part of Earth's
surface. In this layer the excess of]
Iron and Nickel occurs. This is
situated beyond 2880 Km.

The Blue Nile river originasts from which of
the following lakes?

(a) Lake Victoria (b) Lake Tana
(c) Lake Edward (d) Lake Albert

Ans. (b) : Lake Tana of Ethiopia, a country in African
continent, is the largest in the country. The Blue Nile
river originates from it while the Nile river originates
from Victoria lake, the largest lake in Africa continent.
Nile river is the longest in the world.

19. Which of the following states of India has the
largest percentage of geographical area under
forest as per the report of the Forest survey of
India?

(a) Manipur (b) Meghalaya
(c) Mizoram (d) Nagaland

18.

Note—According to options available in the question the

option (c) is correct.

20. At which of the following towns the Alaknanda
and the Bhagirathi combines to form River
Ganga?

(a) Haridwar
(c) Rudraprayag

(b) Rishikesh
(d) Devprayag

Ans. (d) : Alaknanda and the Bhagirathi combines near
Devprayag of Uttarakhand to form the river Ganga.
Ganga river originates from the Gangotri glacier of]
Uttarakhand. Yamuna is the right tributaries of Ganga
while the major left tributaries are—Ramganga, Gomti,
Ghaghra, Gandak, Kosi and Mahananda. It is important
that the delta of Ganga and Brahmaputra is the largest in
the world.

21. ‘Nirvana Fund’ was set up by NSDC for
financial help to.............
(a) Entrepreneurs from the bottom rungs of
society

(b) Displaced Kashmiri Pandits

(c) Old age people having no means of livelihood

(d) Ventures of selected candidates trained under
PMKVY but did not get any job

Ans. (d) : ‘Nirvana Fund’ was set up by NSDC for
financial help to those unemployed candidate who is
selected and skilled under PMKVY (Pradhanmantri
Kaushal Vikas Yojna).

22.

‘Nakul Swasthya Patra’ is a scheme by the

Government for which among the following

purposes?

(a) Wellness of animals

(b) Wellness of animal owners

(c) Taking care of lactating mother in the rural
areas

(d) Taking care of newborn babies in the rural
areas

Ans. (a) : ‘Nakul Swasthya Patra’ is an animal health
card scheme started by Animal and dairy board of]
ministry of agriculture, Govt. of India. In this card the
complete record about the breed of animal, age of herds
man with their name and health of animal will be
registered.

23.

Which mine of India was in the news recently
for becoming the country’s first iron-ore mine
to have a solar plant for reducing carbon
footprint?

(a) Talchar mine
(c¢) Noamundi mine

(b) Koraput mine
(d) Ratnagiri mine

Ans. (c) : India's forest survey report (IFSR) 2017 has
published on 12" Feb, 2017. According to this report
the state with highest percentage cover of forest are—
Lakshadeep - 90.33%, Mizoram - 86.27%, Andman &
Nicobar Island - 81.73%

Ans. (c) : On 10™ July 2017 the Noamundi Mine of|
Tata Steel, Jamshedpur became the country's first iron-
one mine to have a solar plant. Solar power plant of 3
MW has installed here which will reduce the carbon
footprint of 3000 tons annually.
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24.  Where will the Summer Olympics be held in

2028?
(a) Sydney
(c) Los Angeles

(b) Paris
(d) Copenhagen

Ans. (¢) : Summer Olympics games 2020 will be held
in Tokyo (Japan) while in 2024 and 2028 will be held in
Paris (France) and Los Angles (USA) respectively.

25.  Which country has won the 2017 Davis Cup
Tennis Tournament?

(a) Switzerland (b) Serbia

(d) Belarus

Ans. (¢) : Davis Cup is the most reputed international
team competition on Lawn Tennis in men's group. In
2017, France wins the tournament by defeating
Belgium.

26.

(c) France

“You are Unique” is written by...........
(a) Dr. A.P.J. Abdul Kalam

(b) Khushwant Singh

(c) Taslima Nasrin

(d) Arvind Adiga

Ans. (a) : The book "You are unique" is written by Dr.

A.P.J. Abdul Kalam.
27. The third Indian Council for Cultural
Relations (ICCR) Distinguished Indologist

Award for the year 2017 was awarded to
Japanese professor............

(a) Hiroshi Marui (b) Shimamaru Marui
(c) Nagasaki Marui (d) Toyota Marui

Ans. (a) : The third Indian Council for Cultural
Relations (ICCR) Distinguished Indologist Award for
the year 2017 was awarded to Japanese professor
Hiroshi Marui. It is bestowed upon eminent Indologist
working abroad who have made outstanding
contribution to study, research, teaching of India's
history, philosophy, thought, art, culture, literature
languages, civilization, society etc.

28.

Which of the following city has became first
Indian city to get UNESCO’s world heritage
city tag?

(a) Jaipur (b) Ahmedabad

(c) Gandhi Nagar (d) Allahabad

Ans. (b) : In 41 session of UNESCO's world heritage
summit on 8th of July 2017, Ahmedabad, the historical
city of Gujarat, got the world heritage city tag. This is
the first city in India to have such title.

29.

In June 2017, which of the following countries
have signed a protocol of co-operation in the
field of archive?

(a) India and Israel

(b) India and Portugal
(c) India and Netherland
(d) India and Iran

Ans. (b): In June 2017 India and Portugal has signed a
protocol of co-operation in the field of archive.

30.

India has signed an agreement to provide USD
318 million as line of credit for developing
railway sector of which of the following

country?
(a) Bangladesh (b) Nepal
(¢) China (d) Sri Lanka

Ans. (d) : India has signed an agreement with Sri Lanka
to provide USD 318 million as line of credit for
developing railway sector.

31.

Dot Matrix is a type of............
(a) Tape (b) Disk
(¢) Printer (d) Bus

Ans. (c) : Printer is an output device that receives
information from computer and print on paper. This
copy of the output on paper is called hard copy. Dot
Matrix is a type of printer, it is an impact printer so it
makes noise while printing. This printer has a matrix of]
multiple pins in the print hand and all dot matrix
printers create characters on paper by striking an inked
ribbon with a hard surface.

32.

The secondary storage devices can only store
data but they cannot perform.............

(a) Arithmetic operations
(b) Logic operations
(c) Fetch operations
(d) All options are correct

Ans. (d) : The secondary storage devices are also called
Auxiliary storage devices. This is not a part of
computer. It is connected to the computer separately.
These devices can store data only, arithmetical, logical
and fetching operations can't be done by this.

33.

In the modern periodic table metals, metalloids
and non metals are found in which block?

(a) s-Block (b) p-block
(c) d-block (d) f-block

Ans. (b) : On the basis of valancy electrons in modern
periodic table the elements are divided into four blocks—
s,p,d,f. s-block contains the elements of group 1 & 2. p-
block contains elements of group 13 to 18 i.e. metal,
non metal and sub metal. d-block contains elements of
group 3 to 12 and f-block contains lanthanides and
actinides elements.

34.

Cinnabar is ore of which of the following?
(a) Magnesium (b) Aluminium
(c) Mercury (d) Iron

Ans. (¢) : Mercury is a chemical element with symbol
Hg and atomic number 80. It is also called quick silver.
It is very rare element in nature and found in
independent state. Its main ore is Cinnabar. It is white in
colour and very bright metal which is found in liquid
state at room temperature. Like other metals it is neither
malleable nor ductile. At 4.12k temperature its
resistance becomes zero.
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35. In which of the following mirror size of image

formed is always equal to the size of object?
(a) Convex mirror

(b) Concave mirror

(c) Plane mirror

(d) Both convex and concave mirror

Ans. (c) : Plane mirror is made polishing the surface of
a glass of uniform thickness with a bright metal like
mercury and silver on one side. This process is called
silvering. After this a layer of silver nitrate is applied
which reflects the light rays striking on it. The size of
image in the plane mirror is always equal to the size of]
the object. The plane mirror is utilised in the form of]
looking glass, Kaleidoscope and Periscope.

36. Mass of a hydrogen atom is how many time the
mass of an electron?
(a) 1000 (b) 8000
(c) 1837 (d) 5000

Ans. (¢) : Mass of a hydrogen atom is 1837 times mass
of an electron. It is important that hydrogen is a gaseous
non metal whose atomic number is 1 and atomic weight
is 1.008. It is also called the first element of periodic
table. It contains only one proton in their nucleous and
an electron revolving outside of nucleolus. It is the only
element with zero neutron. It is most available element
in the universe.

37.

Which of the following are Fabrics that may
contain polyester?

1. Polycot

11. Polywool

III. Terrycot

(a) Only I and I (b) Only I and IIT
(c) Only IT and IIT (d) AIlL IT and ITI

Ans. (d) : Polyester is a polymerised synthetic fiber. In
order to synthesis the polyester hydroxyle (—-OH) groups
carbonous compound chemically react with two
carboxylic (—CO0H) groups and ester group (—C00) is
formed. Since in this fibre there are so many ester
groups thus it is called polyester. It is used in the form
of cloths, in making housepipes of fire extiunguishers.
Polycot, polywood and Terrycot clothe can have
polyester.

38. Which of the following term does NOT
represent electrical power in circuit?
(a) 'R (b) IR2
(c) VI (d) VIR
Ans. (b) : Electrical circuit is a combination of various
electrical appliances and instruments in which electrical

energy generated by the blowing of current can be used
for various purposes.

As we know that — P = V] ————————-- €))
where

I = current, R = Resistance, V = Potential

P = Electrical power

but according to ohm's law — V = IR --------- 2)
By putting the value of equ. (2) in eqn (1)
2
p-V_
R
P =IR ------—-- (3)
then by putting value of equ. (2) in equation (3)
v
[=— - 4
R “)
2
then equ. = [P = A\
R
while option (b) IR? is not correct.

39. A positively charged particle projected towards
west is deflected towards north by a magnetic
field. What is the direction of magnetic field?
(b) toward east

(d) upward

(a) toward south
(c) downward

Ans. (d) : The region or space around a magnet through
which any other magnet or magnetic material
experience force of attraction or repulsion is called
magnetic field. SI unit of magnetic field is Tesla (T). A
positively charged particle projected towards west is
deflected towards north by a magnetic field then
direction of magnetic field will be upward.

40. Which of the following is NOT positively
charged?
(a) Alpha particle
(c) Helium nucleus

(b) Proton
(d) Electron

Ans. (d) : Electron was invented by J.J. Thomson. It is
a negatively charged particle which rotates in various
orbits around the nucleus. The charge of an electron is —
1.6 x 10"°C. This is a stable fundamental particle.
While alpha particle, proton and Helium are positively
charged.

41.

Which is a water soluble Vitamin?

(a) Vitamin A (b) Vitamin C

(c) Vitamin D (d) Vitamin K

Ans. (b) : Vitamin-B and Vitamin—C are soluble in
water while Vitamin — A, D, E, K are soluble in fat. It is
important that Vitamin—C (Ascorbic acid) was first
discovered. The deficiency of Vitamin—-C causes
scurvey disease. The main sources of Vitamin—C are
citrus fruits like — lemon, orange, Indian gross berry etc.

42.

Match the items given in column (A) with those
in column (B).

Colume-A Colume-B
I. Frog 1. Skin
1I. Leaves 2. Stomata

III. Earthworm
(a) I-3,1I-2, ITI-1
(c) I-3, II-1, III-2

3. Lungs and skin
(b) I-1, II-2, I11-3
(d) I-2, II-1, II1-3
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Ans. (a): Frogs respire through their lungs and skin. In
the plants, the stomata's present in the leaves are
responsible for the respiration while earthworm respires
through their skin because it lacks lungs. Hence option
(a) is correct.

43.

How many number of chambers are there in
human heart?

(@) Two (b) Three (c) Four (d) Five

Ans. (¢) : There are four chambers in the human heart.
Which are divided by septum to each other. The two
upper chambers are small and thin called Auricle. The
two lower chambers are called ventricle which are also
of two types right ventricle and left ventricle. There is a
hole between every auricle and their respective below
ventricle which is called Atrio—ventricle valve. These
valve open towards ventricle only.
44. Which of the following is NOT present in a

matured stomata?

(a) Plasmodesma (b) Chloroplast

(c) Cell wall (d) Vacuole
Ans. (a) : Stomata is a hole found mainly in the
epidermis of leaves. In matured stomata chloroplast,
cellwall and vacuole are presents. The main function of|
stomata is to absorb carbon dioxide from the

environment and to release oxygen that means the
exchanges of gases. (Photosynthesis).

45.

What is/are the cause(s) of arise hypermetropia?
(a) Excessive curvature of the eye lens.

(b) Elongation of the eye ball.

(c) Focal length of the eye lens is too long.

(d) No option is correct.

Ans. (c) : The causes of Hypermetropia are—
(i) The sphericity of the eye lens is decreased.
(i1)) The focal length of the lens increases.

(iii)) Due to this the distance between eye lens and
retina decreases that means the diameter of the
eyeball is reduced.

The person suffering from hypermetropia can't see the
near most objects but can see the objects located at
remote distances.

46.

Antibiotics are useful for which type of

infections?
(a) Only bacteria (b) Only virus
(c) Both bacteria and virus

(d) Neither bacteria nor virus

Ans. (a) : Antibiotics are also known as antimicrobial
drugs. Antibiotics are used to treat or prevent infections
caused by bacteria, fungi and protozoa. These
medicines treat infections either by killing or decreasing
the growth of bacteria. Naturally it is produced by some
microorganism or artificially in the laboratory. It is
important that penicillin, an antibiotic produced by the
fungus, was discovered by Alexander Fleming.

47.  Which one of the following is NOT responsible

for water shortage?

(a) Rapid growth of industries

(b) Increasing population

(c) Forestation

(d) Mismanagment of water resources

Ans. (¢) : When in a certain period the demand of water
exceeds to their availability or the use of water is
interrupted due to poor quality then this situation
represents the scarcity of water. The reason behind this

is—rapid  industrialisation, = growing  population,
mismanagement of water resources.
48. Which gas is major contributor to greenhouse

effect?
(a) Carbon dioxide
(¢) Sulphur dioxide

Ans. (a) : The major responsible gases for green house
effects are — carbon dioxide (CO,), chlorofluorocarbon
(CFC), Methane (CH,), Nitrous oxide etc. These gases
stops heat escaping from the earth into space which
results in the increase of average temperature of
atmosphere. Carbon dioxide has highest contribution in
green house effect.

49. Which of the following is NOT a major
problem in development of resources?

(b) Chloroflurocarbon
(d) Nitrogen dioxide

(a) Depletion of resources for satisfying the
greed of few individuals.

(b) Accumulation of resources in few hands.
(c) An equitable distribution of resources.
(d) Indiscriminate exploitation of resources.

Ans. (¢) : A resource is defined as a service or other
asset used to produce goods and service of or have
technology to produce that meet human needs and
wants, and which is economically feasible and
culturally valid. The main problems in development of|
resources are—

(i) Degradation of resources by some greedy people
(i1)) Centralisation of resources to limited hands.

(iii) Over exploitation of resources.
50. Which of the following is NOT man made
ecosystem?
(a) Orchards
(c) Botanical gardens

(b) Home aquarium
(d) Grassland

Ans. (d): Human changes their natural environment for
more and more production of things of their need like
food, goods, medicine and many other useful products.
Consequently new ecosystem forms in which human
involves enough. Such type of ecosystem is called man
made ecosystem. Examples are — Orchards, Home
aquarium, botanical gardens etc. Grassland is a natural
ecosystem.
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General Knowledge

1. Income and Expenditure Account is .......cceueee.
(a) Property Account (b) Personal Account
(c) Nominal Account (d) Capital Account

Ans : (c¢) Basically there are three types of accounts
used for exchange. These are—(i) Personal Account, (ii)
Real Account, (iii) Nominal Account.

Nominal Accounts are related with income, expenditure
and losses. These accounts includes the Salary,
Commission, Rent, Insurance, Income and Expenditure,
Bonus etc.

2. Commodity or product differentiation is found
in which market?
(a) Perfect competition Market
(b) Monopoly Market
(c) Imperfect Competition Market
(d) No option is correct

Ans: (¢) Imperfect competition market is the intermediary
between the perfect competition market and the
monopolistic market. In imperfect competition market the
number of producers are not very much and goods are also
not symmetric. In this situation there are differentiation

between goods and their prices periodically.

3. the economist who for the first time
scientifically determined National Income in
India is.....ccceeueee

(a) Jagdish Bhagwati (b) V.K.R.V.Rao
(c¢) Kaushik Basu (d) Manmohan Singh

Ans : (b) The economist who for the first time
scientifically determined National Income in India was
Vijendra Kasturi Ranga Vardraj Rao (V.K.R.V. Rao).
= Jagdish N. Bhagwati is an Indian economist who is
known for their contribution in research of
international trade. The Government of India
awarded him with "Padm Vibhushan' in 2000.
Amrtya Sen is the first Asian to win nobel prize in
the field of economics in 1998. He demonstrated the
concept of public welfare economics. He has also

been awarded with the ‘Bharat Ratna' in 1999.

4. Which of the following is not a part of the non-
plan expenditure of central government?
(a) Interest payment (b) Grants to states
(c) electrification (d) subsidy

expenditure includes the aid provides for the execution
of schemes sponsered by centre, state and union

territories like — Agriculture, Rural development,

Electrification, Irrigation, Flood control etc.

5. The percentage of decadal growth of
population of India during 2001-2011 as per
census 2011 is ........ceueenee.

(a) 15.89 (b) 17.64
() 19.21 (d) 21.54
Ans: (b) The percentage of decadal growth of

population of India during 2001-2011 as per census
2011 is 17.64%. According to this census the total
population is 1,21,05,69,573 in which the male
population is 62,31,21,843 (51.47%) and the female
population is 58,74,47,730 (48.48%). The sex ratio in
India is 943 i.e. 943 females per 1000 males. Population
density is 382 person/km’.
6. The concept of Constitution first originated in

which of the following countries?

(a) Ttaly (b) China

(c) Britain (d) France
Ans : (c¢) The Constitution defines the basic structure of
the political system of any country by which the peoples
are ruled. The concept of constitution first originated in
the Britain in 1215 A.D. It is important that constitution
is divides into two groups — written constitution and
unwritten  constitution. Countries with  written
constitution are — India, Australia, USA etc. While the
countries with unwritten constitution are — Britain,
Israel, New Zealand
7. The Parliament has been given power to make

laws ragarding citizenship under which article

of the Constitution of India?

(a) Article 5 (b) Article 7

(c) Article 9 (d) Article 11
Ans : (d) The Constitution of India deals with the
citizenship from Articles 5 — 11 under part-2. Under
Article 11, parliament shall have the power to make any
provision with respect to the citizenship. That means
parliament can make any provision with respect to the
acquisition and termination of citizenship and all other
matters relating to citizenship. Like Canada Indian

Constitution provides for only a single citizenship.

Ans : (¢) In the Budget document the gross revenue
expenditure has divided into planned expenditure and
non-planned expenditure. Non-planned expenditure
includes — Payment of debts, Defence Services,
Economic aid, Administrative services. While planned

8. Which one of the following cannot be the
ground for proclamation of Emergency under
the Constitution of India?

(a) War (b) Armed rebellion
(c) External aggression (d) Internal disturbance
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Ans : (d) The emergency provisions are contained in part-

18 of the Indian Constitution, from Articles 352 to 360.

The Constitution stipulates three types of emergencies —

(i) National emergency due to war, external
aggression or armed rebellion (Article 352)

(ii)) President's rule due to the failure of the
constitutional machinery in the state. (Article 356)

(iii) Financial emergency due to a threat to the financial
stability or credit of India (Article 360).

Emergency can't be proclaimed on the basis of Internal

disturbances.

9. The 100™ amendment in Indian Constitution

provides ......ccceueeeee
(a) Protection of livelihood and regulation of
street vending
(b) Acquiring of territories by India and transfer
of certain territories to Bangladesh
(c) Emoluments, Allowances and Privileges to
the Governors
(d) Reorganisation of state of Andhra Pradesh
Ans: (b) The 100" amendment 2015, in Indian
Constitution proposed to amends the First Schedule of
Constitution by which a national transfer of 111 Indian
enclaves to Bangladesh in return of 51 enclaves to India
established in West Bengal, Assam, Tripura and
Meghalaya. Hence option (b) is correct.

10. Which one of the following is not a
constitutional body?
(a) The Election Commission of India

(b) The Finance Commission
(¢) The Official Language Commission
(d) The National Commission for Women

Ans : (d) Constitutional bodies are those described in
the Constitution of India. Constitutional bodies are —
Election Commission, Finance Commission, Union
Public Service Commission, State Public Service
Commission, Commission for official language,
Comptroller and Auditor General of India, Attorney
General of India, Advocate General of the states,
National Commission for SCs, STs etc. While The
National Commission for women is a statutory body
established in 1992.
11.  Which Buddhist scripture describes about 16

Mahajanapadas?

(a) Digha Nikaya (b) Sutta Pitaka

(c) Anguttara Nikaya (d) Vinaya Pitaka
Ans : (¢) Buddhist scripture Anguttara Nikaya describes
about 16 Mahajanpadas. While sutta Pitaka describes
about the Jataka stories, the stories of previous births of
Buddha, and the collection of Buddhist teachings
Vinaya Pitaka describes about rules and regulation and
daily life for monks and mins. Abhidhamma Pitaka

Ans: (¢) The chinese Pilgrim Sung Yun visited India in the
early 6" century A.D. Besides this Fa-hien came to India in
the reign of Chandragupta-II Vikramaditya. While Hiuen
Tsang came in the reign of Harshavardhana. I-tsing came
to India in the later 7" century A.D.

13. Which one of the following was the capital of
the sultanate during the reign of Iltutmish?
(a) Agra (b) Lahore
(c) Badaun (d) Delhi

Ans : (d) [tutmish (1210-1236 A.D.) made the capital of
sultanate to Delhi in place of Lahore. Being an Ilbari turk
he was the real founder of Delhi Sultanate. He
strengthened the position of sultanate by defeating their
rivalries of throne like Yaldoz and Qubacha. Safeguarded
the North-Western frontier from Mongols by not allowing
the Khwarizm prince Jalauddin Mankbarni to enter beyond
Indus valley. He laid the foundation of absolute monarchy
of the tanka in Northern India. He created an entirely new
and important class of officers called chalisa (Chehalgan)
or ‘the forty'. He also secured a letter of investiture from
the Abbasid Caliph of Baghdad which also established him
as the "Sultan of Hindustan'. Being an orthodox sunni his
view towards other was harsh but not cruel. He had
desecrated the magnificent Hindu temples of Bhilsa and
Ujjain. He also introduced a purely arabic currencies of
gold and silver and two very important measures of the
time the Silver Tanka and Copper's Jital. He was a great
patron of art and learning. Also completed the construction
of Qutubminar.

14. The ideas of non-coperation movement during
freedom struggle did not envisage on ................
(a) the bycott of civil services
(b) the bycott of foreign goods
(c) Common riots (violence)
(d) the surrender of British titles

Ans : (¢) The non-cooperation movement was launched
formally on 1 August 1920. On 9 June 1920, the Khilafat
Committee at Allahabad unanimously accepted the
suggestion of non-cooperation and asked Gandhiji to lead
the movement. There were two main propaganda of
movement in which one was by the constructive works
like setting up of National Schools, Colleges, Panchayats
for settling disputes, hand spinning and weaving was to be
encouraged, Hindu-Muslim unity, give up untouchability,
non-violence etc. and second was negative work like
surrender of titles and honours, boycott of government
affiliated schools and colleges, law courts, foreign cloth,
resignation from government services, mass civil
disobedience, non-payment of taxes etc.

While the common riots were not the part of movement
but happened accidentally in Chauri-Chaura in
Gorakhpur District of U.P. on 5 Feb. 1922 which
resulted the end of the movement unfortunately.

describes about Buddhist philosophy which is in the||15. Who among the following participated in the
form of Que. and Ans. Salt Satyagarha of Gandhiji?
12. The Chinese Pilgrim who visited India in the (a) Sarojini Naidu
early 6th century was................ (b) Rajkumari Amrit Kaur
(a) Hiuen Tsang (b) Fa-hien (¢) Kamladevi Chattopadhyaya
(¢) Sung Yun (d) I-tsing (d) All options are correct
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Ans : (d) Gandhiji, alongwith the selected 78 members
of the Sabarmati Ashram, belonging to every region and
religion of India, marched on 12 March 1930 from
Ahmedabad to the coast of Dandi and on 6 April 1930
by picking up a handful of salt break the salt law and
inaugurated the civil disobedience movement and hence
defiance of salt law started all over the country by
various leaders or groups. In different regions of the
country it was in different forms like in eastern India-no
tax campaign, defiance of forest law in Maharashtra,
Karnataka and the central provinces, in Assam against
'Cunningham circular' etc. Gandhiji specially asked the
women to play a leading role in this movement on the
advice of Kamladevi Chattopadhyaya. Sarojini Naydu,
Satyavati Devi, Kamala Nehru, Rajkumari Amrit Kaur,
Kasturba Gandhi, Vijaylaxmi Pandit etc. were the
leading women in this movement.

16. Which among the following is not the result of

underground water action?

(a) Fiords (b) Sink holes

(c) Stalactite (d) Stalagmite
Ans : (a) Water from the rainfall received on the earth's
surface seeps through the ground and accumulated
under the ground surface is called ground water which
gushes out in the form of springs. The land forms
created by the actions of groundwater are sink hole,
caves, stalactites and stalagmites, cave pillars etc.
= Fiords are formed when the lower end of the trough
is drowned by the sea and forms a deep steep-side inlet.
These are formed mainly on Norwegian and South
Chilean coast.
17. In which of the following countries the Great

Victorian Desert is located?

(a) South Africa (b) South America

(c) Australia (d) China

Ans : (¢) Australia is the smallest continent of the world

by land area as well as by population. It is situated in

southern hemisphere and the tropic of Capricorn divides

it into equal parts. The major deserts in Australia are —

Great Victorian, Great sandy, Simpson, Gibson etc.

= Deserts found in Africa are Sahara, Kalahari,
Namib etc.

= Deserts found in South America are — Atacama,
Patagonian etc.

= Deserts found in China are — Takla Makan

18.  Which of the following is a typical feature of
river erosion in youthful stage?
(a) George (b) Cut-bank
(c) Ox-bow lake (d) Natural Levee

Ans : (a) The features found in youthful stage of a river
are all formed by the process of Erosion. The main
features are—V-shaped wvalley, George, Waterfalls,
Potholes etc. The river erodes downwards in its
youthful stage, called vertical erosion. The result of
such erosion is a valley with steep sides and very
narrow floors which looks like a "V". But when it meets

19. Which of the following Indian state does not
share boundary with Myanmar?
(a) Assam (b) Manipur

(c) Nagaland (d) Arunachal Pradesh

Ans : (a) The Indian states bordering with Myanmar is
Arunachal Pradesh, Nagaland, Mizoram and Manipur.
While Assam boundaries with Bangladesh. Other states
sharing boundaries with Bangladesh are West Bengal,

Meghalaya, Tripura, Mizoram.

20. Bhavanisagar Dam or Lower Bhavani Dam, is
located in which state?
(a) Tripura (b) Bihar
(c) Tamil Nadu (d) Telangana

Ans: (¢) The Bhavanisagar Dam or Lower Bhavani
Dam is located on the Bhavani river between
Mettupalayam and Sathyamangalam in Erode district,
Tamilnadu. This dam is considered to be among the
biggest earthen dams in the country. Other important
dams are — Idukki dam on Periyar river in Kerala,
Bhima project in Telangana on Pavna river, Kosi

Project in Bihar on Kosi river etc.

21. Which of the following is a scheme of
Government of India for providing online
connection of LPG?

(a) SAHAJ (b) SARAL
(c) BHIM (d) DIGI DHAN

Ans : (a) Union Government has launched Sahaj
Scheme for online booking of LPG cylinders. It was
launched by Union Minister for Petroleum and Natural
gas on 30 August 2015. A unified web portal
www.mylpg.in  is available in 13 languages for
booking. Initially, the scheme has been launched in 12
cities across the country. New system would be
available on the websites of each oil company and the

government's LPG portal Pahal.

22. Which one of the following schemes is aimed at
all-round development of adolescent girls in the
age group of 11-18 years and making them self-

reliant?
(a) RGSEAG (b) IGMSY
(c) NMEW (d) RMK

Ans : (a) The Rajiv Gandhi Scheme for Empowerment
of Adolescent Girls Sabla is a centrally sponsored
program of government of India initiated on April 1,
2011 under ministry of women and child development.
The basic objective of the scheme are to enable self
development and empowerment of adolescent girls
improvement in their health and nutrition status, spread
awareness  about  health, hygiene adolescent
reproductive and sexual health, family and child care.
Also upgrading their home based skills, life skills and
vocational skills. A “Kishori Card" will be given to
each adolescent girl.
= The program would cover adolescent girls (only out
of school) 11-18 years old under all integrated child

development services projects.

with an obstacles of hard rock, being unable to cut them|[23.  Bharatnet Project is related to which of the
it flows around them and forms a George like shape. following?
= Ox-bow lake, Natural levees formed in old age (a) free wifi to students in rural area
stage while cut-banks are found in matured stage. (b) High speed internet to farmers
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(c) Broadband connectivity to gram panchayats
(d) A project connecting rural area with urban
area

Ans : (c) Bharat Net project is the new brand name of
National optical Fibre network (NOFN), which was
launched in October, 2011 to provide broadband
connectivity to all 2.5 lakh Gram Panchayats. It was
renamed Bharat net in 2015. The objective of this scheme
is to provide high-speed broadband of 100 mbps to all the
panchayats in the country by March 2019.

The project is being funded by the universal service
obligation fund (USOF) which was established to
improve telecom services in the remote and rural areas
of India. The project is to be implemented in three

Ans: (a) In August 2017 total 17 sportsperson has been
awarded by Arjun award. It is India's 2" highest
sporting award bestowed upon sportsperson for
consistently outstanding performance for four years.
Harmanpreet Kaur is an Indian cricketer awarded with
this. Some other recipients are Cheteshwar Pujara
(cricket), Khusbir Kaur (Atheletics), Mariyappan (Para-

atheletics) etc.

phases.

24.  Which of the following countries will host the
Commonwealth Games in 2018?

(a) SriLanka (b) Indonesia
(c) Australia (d) Britain

Ans : (¢) The 2018 common wealth games, officially

known as the 21st common wealth games were held on

the "Gold coast', Queensland, Australia between 4 to 15

April, 2018. Australia topped with highest number of

medal (198). India ranked third in the game with 66

medal (26 gold). 22" common wealth game will be

held in 2022 in Birmingham, Britain.

25. In December 2017, who won the World Rapid
Chess Championship Title 2017 held in
Riyadh, Saudi Arabia?

(a) Magnus Carlsen

(b) Viswanathan Anand
(¢) Vladimir Fedoseev
(d) Tan Nepomniachtchi

28.  Which of the following is the 14™ Intangible
Cultural Heritage from India to be listed in
UNESCO?s list of Intangible Cultural Heritage
of Humanity?

(2) Ramlila (b) Mudiyett
(¢) Kumbh Mela (d) Sankirtana
Ans:(c) The intergovernmental committee  for

safeguarding of intangible cultural heritage under
UNESCO has inscribed 'Kumbh Mela' the 14" UNESCO's
Representative list of intangible cultural Heritage of
Humanity during its 12" session of committee held on 4-9
December 2017 at Jeju, South Korea. total 33 elements are
included in this list. 'Kumbh Mela' is held every third year
at one of four places by rotation. Haridwar, Allahabad,
Nashik, Ujjain and thus it is held at each of these places
every twelfth year. Other sites are — Ramlila, Sonkirtana,

Chhau dance etc.

29. The Union Finance Ministry’s Revenue
Department has imposed a five year anti-
dumping duty on Sodium nitrite imports from
which of the following country?

(a) Japan (b) China
(c¢) United States of America (d) Russia

Ans : (b) In December 2017, the Indian grandmaster
Vishwanathan Anand won the world rapid chess
championship title 2017 held in Riyadh, Saudi Arabia.
He was the first recipient of the Rajiv Gandhi Khel
Ratna award in 1991-92. He was also awarded the
Padma Vibhushan, the first sports person to receive the

Ans : (b) The Union Finance Ministry's Revenue
department has imposed a five year antidumping duty
on Sodium Nitrite imports from China. For this purpose
the petition was filed by Deepak Nitrite Ltd. and

supported by Punjab Chemical and Crop Protection Ltd.

award.

26. “Gandhi in champaran” is written by..........
(a) Arundhati Roy
(b) Fatima Bhutto
(c¢) Dinanath Gopal Tendulkar
(d) Harper Lee

Ans : (¢) 'Gandhi in champaran' is written by Dinanath
Gopal Tendulkar. He is famous for writing of an eight
volume biography of Mahatma Gandhi.

= Arundhati Roy's "the God of small things' won the
man booker prize in 1997 for fiction.

Fatima Bhutto is a Pakistani writer known for her
notable work in non fiction about her family —
'Songs of blood and sword'

Harper Lee is an American novelist known for her
notable work — 'To kill a Mochingbird, Go set a

=

30. Which neighbouring country of India
celebrates its Independence Day on March 26?
(a) Bangladesh (b) Pakistan
(c) Nepal (d) Sri Lanka

Ans : (a) Bangladesh, The neighbouring country of

India, celebrates its independence day on March 26. It
commemorates  the  country's declaration  of
independence from Pakistan in the late hours of 25
March 1971. While Pakistan and Sri Lanka celebrates
its independence day on 14 August and 4 February

respectively.

31. Which of the following is NOT an operating
system?
(a) Unix (b) Ubuntu
(c) MS-DOS (d) MS-Excel

watchman.

27. Who among the following has received Arjuna
Award in August 2017?
(a) Harmanpreet Kaur

(¢) Bhupender Singh

(b) Sardar Singh
(d) P.A.Raphel

Ans : (d) Operating system is a system software that
manages computer hardware and software resources and
provides common services for computer programs. For
hardware functions such as input and output and memory
allocation the operating system acts as an intermediary b/w
software and hardware. Examples are — Unix, Linux,
Ubuntu, M.S. Windows, Mac OS, MS-Dos etc.

= MS-Excel is a spreadsheet developed by microsoft

for calculation, graphing tools, pivot tables etc.
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32. Instructions to computer are given through....
(a) Input unit (b) ALU

(c) Printer (d) Pen drive

Ans: (a) Instructions to computer are given through
input unit. To interpret these instructions, the computer
uses an operating system or software that is also
programmed by a human to translate the user
commands. Examples of input devices are — Keyboard,
Mouse, Joysticks, Trackball, Light pen, Bar-code
reader, Scanner etc.

Given mass
No. of moles = ———
Molar mass

since mass of water (given) = 36
molar mass of water = 18

Hence No. of moles = % =2 mole.

37. In which mirror, image formed is virtual, erect
and point sized?
(a) Plane (b) Convex

(c) Concave (d) No option is correct

33.  Which of the following is slaked lime?
(a) Ca(OH), (b) CaO
(c) CaCO, (d) CaCl,
Ans : (a) Calcium hydroxide (Ca(oH),) is also called

the slaked lime. It is obtained when calcium oxide is
mixed, or slaked with water. Aqueous solutions of
ca(oH), are called lime water and it turns milky in the
presence of CO, due to formation of Calcium
Carbonate. This is used in whitening of walls. Other
uses are in the making of Bleaching Powder, Caustic
Soda, Sodium Carbonate, Cement, Drugs etc. for

Ans : (b) A convex mirror or diverging mirror or fish
eye mirror is a curved mirror in which the reflective
surface bulges towards the light source. A parallel beam
of light diverges after reflection from a convex mirror.
The image formed in convex mirror is behind the mirror
between the pole and the focus and the image formed is
smaller than the object and it is erect and virtual. These
mirrors are utilized in motor cars, trucks etc. as a rear
view mirror.

reducing the acidity of land it can be used.

34. Among the following respiration is which type

of process?

(a) Exothermic process only

(b) Endothermic process only

(¢) Both exothermic and endothermic

(d) Neither exothermic nor endothermic
Ans : (a) Reactions in which energy is released called
exothermic reaction. All combustion reactions are
exothermic. Respiration is an exothermic process
because in this CO, presents in food breaks down to
form glucose and this glucose combines with oxygen in
the cells of our body and releases high amount of
energy. Photosynthesis and other microprocess are
other example.
35. In Modern Periodic Table, while moving left to

right across a period, the metallic character.....

(a) increases (b) decreases

(c) remain same

(d) first increases then decreases
Ans : (b) Dmitri Mendeleev was the first scientist to
explain this. According to him the physical and
chemical properties of elements are periodic function of
their atomic number. In modern periodic table while
moving left to right the metallic character decreases and
non-metallic increases. In periodic table the horizontal
lines are called periods and vertical lines are called

groups.
36. How many moles are present in 36 gm of water?
() 1 (b) 2
(c) 4 (d 8

Ans : (b) The mole is the unit of measurement for
amount of substance in the SI units which is defined as
the amount or sample of chemical substance that
contains as many constitutive particles, e.g., atoms,
molecules, ions etc.

38.  Which of the following affects the resistance of
the wire?
(a) Resistivity (b) Length of wire
(c) Area of cross section of wire
(d) All options are correct

Ans : (d) The electrical resistance of an electrical
conductor is a measure of the difficulty to pass an
electric current through it and it depends upon
resistivety of conductor, length, area of cross section of
wire, temperature. The SI unit of electrical resistance is

ohm ().

39. Which of the
CORRECT?
I. Force applied on the conductor depends on
magnitude of current.
Force applied on the conductor depends
on magnitude of magnetic field strength.
III. Force applied on the conductor depends on
the direction of current.
(a) OnlyIand]Il (b) Only I and III
(¢) Only II and III (d) All are correct

following statements are

II.

Ans : (a) Force applied on the conductor depends on
magnitude of current and magnetic field strength. An
electrical conductor is an object or type of material that
allows the flow of electrical current in one or more
directions. e.g. Silver, Mercury, Acidic water, aqueous

solution of salts, body of livings etc.

40. The direction of heat flow between two body
depends on which of the following?
(a) Their specific heat (b) Their latent heat
(¢) Their temperatures (d) Their area of contact

Ans : (c) Heat is a type of energy which has ability to do
various type of works. The direction of flow of heat
between two bodies depends on their temperature and
which takes place from higher temperature to lower
temperature. It is important that after some time the
temperature of both the bodies becomes equal and heat

transfer stops, this situation is called thermal equilibrium.
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41. Which disease is
Vitamin A?
(a) Beri-Beri

(c) Rickets

caused by deficiency of

(b) Night blindness
(d) Pellagra

Ans : (b) Vitamin - Diseases caused by

(1) B; (Thymine) - Beri-Beri

(2) A (Retinal) - Night blindness

(3) D (Calciferol) - Rickets

(4) Bs (Niacin) - Pellagra

42.  Air enters the body of cockroaches through....
(a) Tungs (b) gills
(c) spiracles (d) skin

Ans : (¢) The scientific name of cockroaches is
periploneta. This is the animal of Phylum Arthopoda.
Like other insects, cockroaches breathe through a
system of tubes called trachea which are attached to
openings called spiracles on all body segments. The
excretory organ of cockroach is the malpighian tubules.
It has 13 chambers in their hearts. It has open blood
circulatory system with lack of hemoglobin. It is a
nocturnal and omnivorous animal.
43.  Which of the following carry the blood from all

parts of body back to the heart?

(a) Arteries (b) Veins

(c) White Blood Cells (d) Platelets
Ans: (b) The blood vessels which bring back the blood
from various organs of the body to the heart are called
veins. Through veins only impure blood flows, but
through pulmonary veins only pure blood flows from
lungs to hearts. The blood vessels which transport the
blood from the heart to various organs of the body
called arteries.
44. Which of the following is an example of

unicellular organism?

I. Euglena I1. Amoeba

II1. Paramecium

(a) OnlyTlandII (b) Only I and III

(c) Only II and 111 (d) All option are correct

Ans : (d) Unicellular organism consists of only one cell
falls into two categories — prokaryotic and eukaryotic.
eg. bacteria, archaea, protozoa, algae, fungi etc. These
are though to be the oldest form of life. Unicellular
organism moves by means of cilia, flagella or
pseudopodia while respires through diffusion. Examples
are—Amoeba, Euglena, Paramecium, Plasmodium etc.

46. Which of the following disease is generally
caused by viruses?
(a) Dengue fever (b) Typhoid

(¢) Cholera (d) Tuberculosis

Ans : (a) The diseases caused by viruses are—Dengue
fever — Dengue virus, Aids — HIV virus. Hydrophobia,
Polio, Encephalitis, Mumps, Measles small pox etc.
while Typhoid, Cholera and Tuberculosis Leprosy,
Whooping cough etc. are bacterial diseases.

47. Which of the following diseases are NOT
caused by smog?
(a) Rickets (b) Throat cancer
(c) Skin cancer (d) Breathing problem
Ans : (a) Throat cancer, skin cancer and breathing

problems may caused by smog while Rickets is disease
in children caused by the deficiency of Vitamin 'D' in
which bone pain, bone tenderness, chostochondral
swelling, soft skull, short height and low weight are

very common symptoms.

48. Which of the following gas is the second most
abundant gas by volume in atmosphere?
(a) Nitrogen (b) Ozone
(c) Oxygen (d) Carbon dioxide

Ans : (¢) The atmosphere is the layer of gases
surrounds the planet earth and is retained by earth's
gravity. By volume dry air contains 78.09% nitrogen,
20.95% oxygen, 0.93% argon, 0.03% carbon dioxide

etc. Hence option (c) is correct.

49. With respect to humans, is carbon
monoxide a pollutant?

(a) TItreacts with nitrogen dixide

(b) It reacts with sulphur dixide

(c) Itreacts with haemoglobin

(d) It makes nervous system inactive

why

Ans : (¢) Carbon mono oxide is a colorless, odorless
and tasteless gas that is slightly less dense than air. It is
toxic to Remoglobic animals, including humans. It is
also called flue gas. Through respiration it reaches in
the body and combines with hemoglobin to produce
carboxy hemoglobin, which usurps the space in
hemoglobin that normally carries oxygen, but is in
effective for delivering oxygen which causes death.
Carbon monoxide reacts with hemoglobin 10 times

higher than oxygen.

45. Which of the following controls the size of

pupil in human eye?

(a) Cornea (b) Iris

(c) Aqueous humour (d) Retina
Ans : (b) In the human eye, behind the cornea a colour
opaque membrane is located which is called Iris. In the
middle of the Iris there is a sharp hole, which is called
pupil. Iris controls the amount of light which enters the
eye. When more light comes into in, then automatically
iris compresses itself and in dark or insufficient light
iris automatically expands.

50. Oil spills is seen in which ecosystem?
(a) Desert ecosystem
(b) Grassland ecosystem
(c) Forest ecosystem
(d) Marine ecosystem

Ans : (d) Oil spills is seen in marine ecosystem. Oil
spills may be due to release of crude oil from tankers,
offshore platforms, drilling rigs and wells etc. This may
cause the destruction of marine ecosystem like death of
animals, fishes, flora and fauna etc. Marine ecosystem
is very rich in biodiversity.
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General Knowledge

1. By what name is the BRICS bank presently
known?
(a) BRICS Development Bank
(b) Afro-Asia Development Bank
(c) New Development Bank
(d) No option is correct

Ans. (¢) : BRICS Bank is currently known as New
Development Bank. The BRICS countries, i.e. Brazil,
Russia, India, China, South Africa, decided to setup a
bank in its 6th Summit of Fortaleza, Brazil which is
known as fortateza declaration in July 2014. The Bank
will have initial subscribed capital of $50 billion —
equally shared by the five nations. A Contingent
Reserve Arrangement (CRA) of $100 billion is to be
also created to provide additional liquidity protection to
member-nations during balance of payment problems.
In CRA the share of countries is divided i.e. China
(41%), each of Brazil, Russia and India (18%) and of]
South Africa (5%). Reason behind the birth of NDB is
mainly have two factors — emergence of BRICS as a big
economic power and their disenchantment to the
Bretton woods institution i.e. IMF and world bank.
2. What does parallel economy mean?

(a) Black Money (b) Parallel Business

(c) Illgeal Economy (d) No option is correct
Ans. (a) : Parallel economy is based on the black
money which has a big menace to the Indian economy.
Its very difficult to recognize and regulate the black
money. It is also a cause of big loss in the tax-revenues
for the government. It generates on underground
economy due to which it becomes very difficult to
calculate data regarding GDP and national income
which shows a false image of the economy and have
adverse affect in policy making. It can misdirected the
precious national resources, worsened the income
distribution, eroded the social values of the society etc.
3. Who implements monetary policy in India?

(a) NITI Aayog (b) RBI

(c) Ministry of Finance (d) Parliament
Ans. (b) : RBI was setup in 1935 (by the RBI Act,
1934) as a private bank which was nationalised in
January 1949. One of the main functions of the RBI is
to announce the credit and monetary policy for the
economy. The policy by which the desired level of]
money flow and its demand is regulated is known as the
credit and monetary policy. RBI has many
instruments/tools to put in place the required kind of]
credit and monetary policy such as CRR, SLR, Bank
rate, Repo & Reverse Repo rates, MSF rate, etc.

4. The ARDC is a branch of the NABARD. What

is the full form of ARDC?

(a) Agricultural Research and Development
Corporation

(b) Agriculture and River  Development
Cooperation

(c) Agricultural Reform and Development
Cooperation

(d) Agricultural Refinance and Development
Corporation

Ans. (d): ARDC's, which is a branch of NABARD, full
name is Agricultural Refinance and Development
Corporation. RBI has setup the Agricultural Refinance
corporation in 1963 to work as a refinance agency for
providing medium and long term agricultural credit to
suppport investment credit needs for agricultural
development. In 1975 ARC is renamed as ARDC.
NABRAD after its formation in 12 July 1982 took
over the functions of the ARDC.

5. Which of the following is a part of machinery
that settles industrial disputes?

(a) Labour Court

(b) Industrial Tribunal

(c) Work Committee

(d) All options are correct.

Ans. (d) : Industrial disputes mainly relates with the
differences between the workmen and the employers. In
other words it is stated that a dispute in which the
interest of all or majority of workmen is involved in it.
In 1947, the Government of India passed the Industrial
Disputes Act under which machinery for the
preventions and settlement of the disputes was outlined.
The Act is amended in 1956 has setup machinery for
settlement of disputes. The present system of]
establishing industrial dispute is as under—

— The work committee

Conciliation officer

Board of Conciliation

Court of Inquiry

Labour Court

Industrial Tribunals

National Tribunals etc.

S IO

In which year Nagaland was created
separate state?
(a) 1961
(c) 1963

as

(b) 1962
(d) 1964
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Ans. (¢): Article 371-A deals with the special provision

of Nagaland. In 1963, the State of Nagaland was formed

by taking the Naga Hills and Tuensang area out of the
state of Assam. Other states which are formed even
after state reorganisation act of 1956 are —

Maharashtra and Gujrat (1960), Haryana (1966),

Himachal Pradesh (1971), Meghalaya, Manipur, Tripura

(1972), Sikkim (1975) Mizoram, Arunachal Pradesh

(1987), Chhattisgarh Uttarakhand and Jharkhand

(2000).

7. Which one of the following is responsible for
the preparation and presentation of Union
Budget?

(a) Department of Economic Affairs

(b) Department of Revenue

(c) Department of Expenditure

(d) No option is correct
Ans. (a) : There are five departments in the ministry of
Finance — (1) Department of Economic Affairs, (ii)

Department of Expenditure, (iii) Department of]
Revenue, (iv) Department of Financial Services, (V)
Department of investment and Public Asset
Management.

— Department of Economic Affair is responsible for
the preparation and presentation of the Union
Budget to the parliament and budget for the state
governments under the President's Rule and Union
Territory Administration.

Foreign Investment Promotion Board (FIPB),
housed in the Department of Economic Affairs is
responsible for the processing of FDI proposed and
making recommendations for the government
approval.

8. Who presided over the inaugural meeting of
the Constituent Assembly of India?
(a) Dr Rajendra Prasad
(b) Dr Sachchidanand Sinha
(c) B R Ambedkar
(d) Sardar Patel

Ans. (b) : The constituent assembly held its first
meeting on December 9, 1946 which was boycotted by
muslim league. Dr. Sachchidanand Sinha, the oldest
member was elected as the temporary President of the
Assembly, following the french practice. Later, on
December 11, 1946, Dr. Rajendra Prasad and H.C.
Mukherjee were elected as the President and Vice-
President of the Assembly respectively. Sir B.N. Rai
was appointed as the constitutional advisor to the
assembly.

On 13 December, 1946 Pandit Jawaharlal Nehru moved
the historic 'objective resolution' in the assembly which
laid down the fundamentals and philosophy of the
constitutional structure.

9. Which of the following was not adopted from
the Maurya Dynasty in the emblem of
Government of India?

(a) Satyameva Jayate (b) Bull

(c) Horse (d) Four Lions

Ans. (a): The emblem of the Government of India is
adopted from the Lion Capital of Ashoka at Sarnath as a
state emblem. This was officially adopted on 26 January
1950. The actual Sarnath Capital features four lions
standing back to back, symbolizing power, courage,
confidence and pride, mounted on a circular base. At
the bottom there is a horse and a bull and at centre there
is a wheel, known as Dharma Chakra. The usage of the
emblem is regulated and restricted under state emblem
of India (prohibition of improper use) Act, 2005. The
emblem also forms a part of the official letter head of]
the Government of India and appears on all Indian
currency as well.

— The integral part of the emblem is their motto which
is inscribed below the abacus in Devanagari script :
Satyameva Jayate which is quoted from the
Mundaka Upanishad, the sacred part of Hindu
Vedas.

10. The first session of Constituent Assembly of
India was held in which of the following cities?
(a) Bombay (b) Madras
(c) Culcutta (d) Delhi

Ans. (d) The first meeting of the Constituent

Assembly was held on 9™ December 1946 in New Delhi
at Constitutional Hall (now the central house of]
parliament). In the first session Dr. Sachchidananda
Sinha was elected temporary president of the assembly,
in accordance with french practice. The last session of]
the constituent assembly was held on 24™ January 1950
and at the same day the assembly elected its president
Dr. Rajendra Prasad as the first President of free India.

11.  Which of the following is the best example of
Vijaynager Art?
(a) Ajanta (b) Hampi
(¢) Puri (d) Sanchi

Ans. (b) : The best example of the Vijaynagar Art is
Hampi which was the capital of this empire. The empire is
named after its capital city of Vijaynagara, whose ruins
surround present day Hampi, now a world heritage site in
Karnataka. The kingdom was founded by Harihara and
Bukka, the two brothers, in 1336 of sangam dynasty. The
most important rulers of this dyanasty was Krishna Deva
Raya of Tuluva dynasty. In his resign the empire reached
at its climax in the field of art, architecture, literature etc.
mainly four dynasties ruled here i.e. (i) Sangama dyansty
(1336-1485), (ii) Saluva (1485-1505), (iii) Tuluva (1505-
1570), (iv) Aravidu (1570-1650).

The famous architecture at Hampi is — Virupaksha
Temple, Hazare Rama Temple, Sugriv Cave, Vithala

Temple etc.

12. Taxila was capital of which among the 16
Mahajanpadas?
(a) Kosala (b) Kuru
(c) Vajji (d) Gandhara

Ans. (d) : In the Buddhist text 'Anguttar Nikaya' 16
large state called Mahajanapadas were described which
were mostly situated north of the vindhyas and extended
from the north-east frontier to Bihar of these Magadha,
Koshala, Vatsa and Avanti seems to have been

considerably powerful.
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Mahajanpadas Capital

(1) Kosala —  Sravasti/Ayodhya

(2) Kuru —  Indraprastha

(3) Vajji —  Videh and Mithila

(4) Gandhara — Taxila

(5) Anga —  Champa

(6) Magadha —  Rajgir and Palaliputra

(7) Lichchhavis —  Vaishali etc.

13. 'Who was founder of Mughal Empire in India?

(a) Babur (b) Humayun

(c) Akbar (d) Jahangir
Ans. (a) : Babur was the founder of the Mughal empire
in India. Babur was endowed with all the best qualities
of a soldier and military general. He was the first leader
to declare himself of 'Badshah' in place of 'Sultan', a
title held by the sultanate rulers. He was a great scholar
of Persian and Turki language and it is said that he has
invented a new style of verse in persian, known as
'mubaiyan'. Babur inscribed a garden in Agra by
geometrical method, which was called Noor-E-Afghan
then, called Aarambagh now. In his autobiography
Babur described about only five muslim states of India
i.e. Bengal, Delhi, Malwa, Gujrat and Bahmani and
only two Hindu states i.e. Mewar and Vijaynagara.

14.

Where did Vasco da Gama arrive in India in
1498?

(a) Madras (b) Calcutta

(c) Calicut (d) Bombay

Ans. (¢) : 'Vasco da Gama' the first Portuguese and the
first European traveller landed at Calicut, India with a
Gujarati pilot Abdul Majid who had guided the ships
from the African coast to Calicut. With the economic
revival of Europe, the demand for the spices and drugs
from the India and South east Asia, especially the
pepper and spices which makes meat more tasty,
increases. Vasco da Gama profited 60 times higher with
the trade of Indian pepper which encourages other
Portuguese too. Pedro Alvares Cabral was the second
traveller who came to India. (1500 A.D.) The first
portuguese viceroy of India was Francisco de Almeida
and the Portuguese empire in Indian coast was known
as Estado da India.

15.

According to the treaty of Srirangapattanam,
which of the following was ceded to the British?
(a) Mysore (b) Hampi

(c) Kannur (d) Malabar

Ans. (d) : In the third Anglo-Mysore was in 1792 Tipu
was defeated and signed a treaty of Srirangapattanam.
Under this treaty nearly half of the mysorean territory
was taken over by the britishers. Baramahal, Dindigul
and Malabar went to the english, while the Marathas got
the regions surrounding the Tungabhadra and its
tributaries and the Nizam acquired the areas from the
krishna to beyond the Pennar. A war raperation of three
crore rupees was also taken from Tipu. Some colonial
historians depicted Tipu as a bigoted monarch.

16. By what name is the Ganga known in
Bangladesh?
(a) Padma (b) Ganga
(c) Damodar (d) Meghna
Ans. (a) : The Ganga river originates from the Gangotri
glacies near Gomukh at Uttarkashi District of

Uttarakhand. The Alaknanda and Bhagirathi rivers unite
at Devaprayag to form the main stream known as
Ganga, which cuts south westward through the shiwalik
range at the northern edge of the Indo-Gangetic plain to
emerge from the mountains at Rishikesh and flows on
to the plains at Haridwar. Ganga flows through
Uttarakhand, Uttar Pradesh, Bihar, Jharkhand, West
Bengal in India. It has largest drainage area and has
maximum length in U.P. By joining Jamuna
(Brahmaputra) in Bangladesh, Ganga is known as
Padma. The Delta of Ganga and Brahmaputra is the
largest in the world Ganga enters into the sea at bay of]

Bengal.

17. Which of the following are not kharif crops?
(a) Maize and Rice

(b) Arhar and Soyabean

(c) Wheat and Barley

(d) Ragi and Groundnut

Ans. (¢) : Kharif crops—Millets (Bajra & Jowar),
Cotton, Soyabean, Turmeric, Paddy (Rice), Maize,
Moong (Pulses), Groundnut, Red Chillies etc.

Rabi crops—Wheat, Barley, Mustard, Sesame, Peas,
Gram etc.

Zaid crops—Watermelon, Vegetables of cucurbitacae

family, Muskmelon etc.
18.

How many seismic stations are required to
locate the epicenter of an earthquake?
(a) 3 (b) 4
(¢) 5 d 6
Ans. (a) : An earthquake is the shaking of the surface of
the earth, resulting from the sudden release of energy in
the earth's lithosphere that creates seismic waves such
as P & S waves. The point where the energy is released
is called the focus of an earthquake, alternatively, it is
called the hypocentre. These waves travelling in
different directions reach the surface. The point on the
surface, nearest to the focus, is called epicentre.
Earthquake waves are basically of two types—body
waves and surface waves. P & S waves are called body
waves. Surface waves are the last to report on
seismograph and are more destructive.
19. Madhya Pradesh shares its border with how

many States?

(@ 5 (b) 4

(c) 6 (d) 3
Ans. (a) : Madhya Pradesh shares its border with five
states namely — U.P., Rajasthan, Gujrat, Maharashtra
and Chhatisgarh. State symbols of Madhya Pradesh—
Language —Hindi, Animal —Barasingha, Bird
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—Indian Paradise Flycatcher, Flower — white lily, Fruit
— Mango, Tree-Banyan Tree.

Madhya Pradesh has 230 seat in state legislative
assembly, 29 seats in Lok Sabha and 11 seats in Rajya
Sabha.

20. Palghat joins which of the following states?
(a) Goa and Maharashtra

(b) Karala and Karnataka

(c) Tamil Nadu and Karala

(d) Mizoram and Manipur

Ans. (c¢): Palakkad Gap or Palaghat Gap is a low
mountain pass in the western Ghats between
Coimbatore in Tamilnadu and Palakkad in Kerala. The
pass is located between the Nilgiri Hills to the north and
Anaimalai Hills to the south. This is the lowest pass
through the western ghats and acts as an important
transport corridor between Tamilnadu and Kerala.

21. Which of the following authorities regulates

NPS?
(a) IRDA (b) PFRDA
(c) CAG (d) SEBI
Ans. (b) The Pension Fund Regulatory and

Development Authority (PFRDA), a statutory body, is
the pension regulator of India which was established by
Government of India on August 23, 2003 under
Department of Financial Services, Ministry of Finance.
Like other regulatory bodies such as RBI, SEBI,
IRDAI, PFRDA is a government regulatory body
having executive, legislative and judicial powers. It
promotes old age income security and protects the
interests of subscribers to schemes of Pension Funds
and related matters. Currently, it is regulating and
administering the National Pension System (NPS) along
with Atal Pension Yojna which is a defined benefits
pension scheme for the unorganized sector.

22,

Which of the following is a centrally sponsored
scheme to empower adolescent girls?

(a) SAKSHAM (b) ABLA

(c) SABLA (d) BBBPS

Ans. (c¢) : The Rajiv Gandhi Scheme for Empowerment
of Adolescent Girls, SABLA, is a centrally sponsored
program of Government of India initiated on April 1,
2011 under Ministry of Women and Child
Development. The main objective of Sabla are —
enabling adolescent girls for self development and
empowerment, improving their nutrition and health
status, promoting awareness, developing skills etc. The
scheme would cover adolescent girls of age between
(11-18) years (out of school).

23.

Which among the following has inscribed
Kumbh Mela on the Representative List of
Intangible Cultural Heritage of Humanity?

(a) WHO (b) UNCTAD

(c) ADB (d) UNESCO

Ans. (d): The inscription of Kumbh Mela in the list was
undertaken on recommendation of expert body which
examines nominations submitted by member countries
of UNESCO during its 12" session of committee held at
Jeju, South Korea. Kumbh Mela is the 14™ intangible
cultural heritage from India to be listed in UNESCO
list. UNESCO was formed on 4 November 1946, with
headquarter in Paris.

24,

Who has been appointed as the General
Manager of Board of Control for Cricket in
India?

(a) MV Sridhar (b) Saba Karim

(c) Rahul Johri (d) Anurag Thakur

Ans. (b) : Former Indian wicketkeeper Saba Karim was
appointed as General Manager of BCCI. BCCI is the
national governing body for cricket in India and was
formed on December 1928 as a society registered under
the Tamil Nadu societies Registration Act.

25. FIFA Word Cup 2022 will be held in which
country?
(a) Russia (b) Spain
(c) Ukrain (d) Qatar

Ans. (d) : The 22™ edition of the FIFA Word Cup will
be held in 2022 in Qatar. This will be the first World
Cup ever to be held in the Arab World and the first in a
Muslim Majority Country. The 21* FIFA football world
cup held in Russia and 8" FIFA women football world
cup will be held in France in 2019. FIFA is an
international governing body association football,
founded on 21 May 1904, headquartered in Zurich,
Switzerland.

26.

“The Idea of Justice” is written by.........

(a) Ravindra Singh (b) Mamta Banerjee
(c) Amartya Sen (d) Abhinav Bindra
Ans. (¢) : Book "The Idea of Justice" is written by the
famous economist 'Amartya Sen'. Other books written
by him is 'Development of Freedom', 'The
Argumentative Indian', 'Poverty and Famines' etc.

27.

Which author has been made Companion of
Honour on December 12, 2017?

(a) J.K. Rowling (b) Roald Dahl

(c) Charlotte Bronte (d) Jane Austen

Ans. (a) : J. K. Rowling has been made companion of]
honour on December 12, 2017. Membership of the
order of the companions of honour is a special award
held by only 65 people at any one time. Established in
1917 by George V, it recognises services of national
importance J.K. Rowling is better known by her famous
work of Harry Potter.

28. 31" Surjkund International Crafts Mela has
begun at which of the following city?

(a) Faridabad (b) Jaipur

(c) New Delhi (d) Jaisalmer
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Ans. (a): 31" Surajkund International Crafts Mela has
begun on 1% feb, 2017 at Faridabad, Haryana. While 32™
Surajkund Craft Mela has also been held on 2-19 Feb.
2018 at same place. Surajkund Mela helds every year in
February at Faridabad, Haryana since 1987. It is the largest
crafts fair in the world. The theme state of 31* craft mela
was Jharkhand while of 32™ Uttar Pradesh.

29.

ONGC Videsh has got a two year extension to
explore which country’s Oil block-128 in the
south China sea?

(a) Cambodia (b) Vietnam

(c) Taiwan (d) Philippines

Ans. (b) : ONGC Videsh has got a two year extension
to explore Vietnam Oil Block-128 in the south china
sea. This is the fifth extension for OVL to explore
Block-128. Vietnam's national oil company Petro
Vietnam granted the extension. The south china sea is a
marginal sea that is part of the pacific ocean, having an
area from the Karimata and Malacca straits to the strait
of Taiwan. The south china sea disputes involves
Brunei, people's Republic of China, Taiwan, Malaysia,
Indonesia, Philippines and Vietnam.

30.

The 5™ India-Sri Lanka joint training exercise
“Mitra Shakti 2017” was held in which state of
India?
(a) New Delhi (b) Tamil Nadu
(c) Maharashtra (d) West Bengal
Ans. (¢) : The 5™ India—Srilanka joint training exercise
"Mitra Shakti 2017" was held at Aundh military station
in Pune, Maharashtra. The exercise was based on
counter terrorist operations and infantry company from
both the nations were participated. The aim was to build
strong military-to-military (m2m) relation between two
armies. The exercise started in 2012, mainly as a
response to china's efforts to increase its influence in
south Asia and Indian ocean region.
31. BIOSisa...........

L. non-volatile firmvare

II. Volatile firmware

III. Software stored on a small memory chip on

motherboard

(a) OnlyI (b) Only II

(¢) Only I and III (d) Only II and IIT
Ans. (¢) : BIOS (Basic Input/Output System) is a non-
volatile firmware used to perform hardware
initialization during the booting process, and to provide
runtime services for operating systems and programs.
It is stored on EEPROM (Electrically Erasable
Programmable Read only Memory) chip on the mother
board. It is non-volatile firmware that means one can
update or rewrite on it.
32.  Which of the following is TRUE?
(a) Primary memory is non-volatile
(b) Secondary memory is volatile
(c) ROM is non- volatile memory
(d) RAM is non-volatile memory

Ans. (¢) : Computer memory is any physical device
capable of storing information temporarily or
permanently. It can be of two types either volatile or
non-volatile. Volatile memory is a memory that loses its
contents when the devices loses power for eg. RAM.
Non-Volatile memory keeps its contents even if the
power is lost. e.g. ROM. These are called Primary
memories. Secondary memories are used for permanent
storage of data or program. eg. Hard disk, Floppy disc,
Magnetic tape etc.

33.

Which of the following metal remains in liquid
form at room temperature?

(a) Cadmium (b) Mercury

(c) Germanium (d) Tin

Ans. (b) : Mercury is also called quick silver. Its atomic
number is 80 and its main ore is Cinnabar. It is white in
colour and very bright metal which remains in liquid
form at room temperature. Like other metals it neither
malleable nor ductile. Its melting point is 234k and
relative density is 13.6. It is used in making amalgam of]
metals and can be used as an indicator in Barometer and
Thermometer.

34.

Aqua regia is a mixture of..........

(a) dilute hydrochloric acid and concentrated
nitric acid.

(b) dilute sulfurice acid and dilute hydrochloric
acidic.

(c) concentrated sulfuric acid and dilute nitric
acid.

(d) concentrated  hydrochloric
concentrated nitric acid

acid and

Ans. (d) : Aqua regia is a mixture of concentrated nitric
and hydrochloric acid in the ratio of 1 : 3

IHNO, +3HC/

This is a strong acid and commonly used to remove
noble metals such as gold, platinum and palladium from
substrates, particularly in micro fabrications labs. This
solution is extremely corrosive and may results in
explosion or skin burns if not handled with extreme
cautions.

3s.

In a concave mirror if object is placed at centre
of curvature, then image will be.........

(a) virtual (b) erect

(c) diminished

(d) at the centre of curvature

Ans. (d) : Convex and concave mirrors are a part of]
spherical mirror where one side is coated with lead
oxide. The centre of the glass sphere is called the centre
of curvature. In a concave mirror if the object is placed
at the centre of curvature, then image will be formed on
centre of curvature with equal length and will be real
and inverted.

SSC JE Online Civil 2018 (Ex. date 23 1. 2018) 10.15 am

23



36. What is the mass of 4 mole of aluminium
atoms?
(a) 120 grams

(c) 136 grams

(b) 108 grams

(d) 140 grams

Ans. (b) : Mole is a unit of amount of substance or
number of atoms in a definite amount of substance
which is 6.023 x 10> atoms, called Avogadro number.

—> The molar mass of Al atom = mass no. of al x no. of
moles
=27 x 4 [27 = mass no. of al]
=108
Hence mass of 4 mole of al will be 108.
37.

Which of the following particles were made to
fall on a thin gold foil by Ernest Rutherford?
(a) Gamma (b) Beta

(c) Electron (d) Alpha

Ans. (d) : Ernest Rutherford in 1911 conducted an
experiment to detect the inner composition of an atom
and it is called Rutherford's o - particles scattering
experiment. In his experiment he uses alpha particles to
fall on the thin gold foil and hence it is also called gold
foil experiment. The main conclusions of the
experiment are—

= In atom there is a central massive part, called
nucleous, consists of proton and neutron and
electrons revolves around the nucleous in circular
way on definite path. These paths are called orbits.’

38. Which of the following statement(s) is/are

TRUE?

I.  Fuse is generally placed in series with the
device.

II. Fuse is generally placed in parallel with the
device.

III. Fuse wire has high melting point.

(a) OnlyI (b) Only II

(¢) Only I and III (d) Only II and IIT

Ans. (a) : A fuse is an electrical softy device that
operates to provide excess current protection of the
circuit. It consists of a metal wire or strip that melts
when excess amount of current flows through it. The
fuse element is made of zinc, copper, silver, aluminium
or alloys to provide stable and predictable
characteristics. The fuse is generally connected in series
to carry all the currents flow through the circuit. Fuse
wire must have low melting point because when over
flow of current occur it melts and breaks the circuit to
operate.

39.

A rectangular coil of copper wire is rotating in
a magnetic field. The direction of the induced
current changes once in each?

(a) Two revolutions

(b) One revolution

(c) Half revolution

(d) One fourth revolution

Ans. (¢) : The direction of the induced current in a
rectangular coil of copper wire rotating in a magnetic
field changes once in each half revolution.

40. Noise is measured in which unit?
(a) Watt (b) Faraday
(c) Pascal (d) Decibel

Ans. (d): Sound with high pressure and density is called
noise, which is measured in Decibel. The range of]
audible frequencies for human ear is 20 to 20000Hz for
which human can respond effectively.

41.

Which of the following vitamin helps in clotting
of blood?

(a) Vitamin A
(c) Vitamin D (d) Citamin K

Ans. (d) : The chemical name of Vitamin 'K' is
naphthoquinone. It is refers to a group of fat—soluble
vitamins that play a major role in blood clotting, bone
metabolism and regulating blood calcium level. It
produces prothrombin, a protein and clotting factor that
is important in blood clotting and bone metabolism.
Basically it is of two types—Vitamin K, (phylloquinone)
comes from plant and Vitamin K, (menaquinone),
occurs in animal based and fermented foods. The main
sources of Vitamin 'K' is green leafy vegetables, Fish,
liver, meat, eggs and cereals, tomato etc.

(b) Vitamin B

42. During heavy exercise, breathing rate in an
average adult  person can  increase
upto............ per minute.

(a) 15 (b) 20
(c) 25 (d) 30

Ans. (¢) : The number of respiration in one minute by a
human is called breathing rate. During heavy exercise,
breathing rate in an average adult person can increase
upto 25 per minute. An adult person in an average
respirates, ie. inhale and exhale, 15-18 times in a minute
in the state of rest.

43.

Why is the colour of human blood red?
(a) Because of myoglobin

(b) Because of haemoglobin

(c) Because of immunoglobin

(d) Because of heptoglobin

Ans. (b) : Red blood corpuscles (RBC) of human blood
contains haemoglobin, in which haeme is iron
containing compound and due to this the colour of the
blood is red. Globin is a proteinous compound and with
haeme it is extremely capable of combining oxygen and
carbon di oxide forms an unstable compound called oxy
haemoglobin and reaches to those cells by blood
circulation where oxygen is needed. Normal range of
haemoglobin content of an adult man is 17.5 gm/100ml
of blood. Anaemia disease is caused due to the
deficiency of haemoglobin. Number of RBC is
measured by an instrument called hemocytometer. In
adult man it ranges between 4-5 million per mm’ of]
blood.
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44. Which of the following statement is
INCORRECT?

(a) Oviparous animal does not give birth to
young ones.

(b) Each sperm is a single cell.

(c) External fertilization takes place in frog

(d) Fertilisation is necessary even in asexual
reproduction.

Ans. (d): Oviparous animals are animals that reproduce
by laying eggs. All birds, fish, amphibians, reptiles,
insects etc. are reproduces through this process.

= Each sperm is a single cell the length of sperm is
about 5 micron. Which is divided into head, neck
and end piece (tail).

External fertilization takes place in the frog. The
female releases her eggs in the water and male
releases his sperm at the same time. In orders to
make sure that the sperm reach to the eggs, the male
and female get into a mating posture called
amplexus.

Fertilization is not necessary even in asexual
reproduction. This type of reproduction takes place
in algae through zoospores, aplanoshore,
hipnospore, autospore and endospore.

45. What is the cause of arise of myopia?
(a) Excessive curvature of the eye lens.
(b) Eye ball becomes too small
(c) Focal length of the eye lens becomes too long
(d) Lack of sleep
Ans. (a) : The person suffering from myopia can't see
the distant objects but easily see the near most objects.
The reason behind this is—

(i) The sphericity of the eye lens is increased i.e.
excessive curvature of the eye lens.
The focal length of the lens decreases.
Power of the eye lens increases and hence image
forms in front of the retina.

(i1)
(iii)

46.  Which of the following multiplies very slowly in
comparison to others?

(a) Bacteria

(b) Virus

(c) Fungi

(d) Worms

Ans. (d) : Multiple fission is a method of fertilisation
by asexual reproduction in organism. In this method the
parent organism being divided produces many other
new organism.

47. The accumulation of non-degradable chemicals
progressively at each trophic level is
called...........

(a) biological magnification
(b) chemical magnification
(c) residue magnification
(d) No option is correct

Ans. (a): The accumulation of non-degradable
chemicals progressively at each tropic level is called
biological magnification. It is the increasing
concentration of a substance, such as a toxic chemical,
in the tissues of tolerant organisms at successively
higher levels in a food chain. This is occur when the
substances can't broke down by environmental
processes, low rate of internal degradation etc.

48. Why Taj Mahal is suffering from *“Marble
Cancer”?

(a) Because of sulphur dioxide

(b) Because of nitrogen dioxide

(c) Because of chloroflurocarbon

(d) Because of carbon dioxide

Ans. (a) : The marble cancer refers to the corrosion of]
building and statues made up of marbles by action of
sulphuric and nitric acid. The SO, and NO, present in
pollution get deposited on these buildings. These oxide
absorb moisture from the air and get converted into
respective acids and cause corrosion.

Since SO, is causing corrosion hence the reason behind
Taj Mabhal's marble cancer is SO..

49. Cancer treatment is done by which of the
following noble gas?
(a) Helium (b) Radon
(c) Krypton (d) Neon

Ans. (b) : Cancer is an abnormal growth of the cells
which occurs through a malignant tumour. It is treated
with various kinds of radio therapy or radiative
treatment. For it X-rays or radio active substances are
used. Radon is a radioactive substance (86Rn**?) hence
it can be used for this purpose. Other materials used for
the treatment are Cobalt-60, Arsenic 74 etc.

50.

How many types of ecological pyramids are
present in ecosystem?

(a) Two (b) Three

(c) Four (d) Five

Ans. (b) : The steps of trophic levels expressed in a
diagrammatic way are referred as ecological pyramids.
The food produces forms the base of the pyramid and
the top carnivore forms the tips. Other consumer tropic
level are in between the ecological pyramids are of
three types—

(1) Pyramid of numbers—

deals with the relationship
between no. of primary
producers and consumers of]
different levels.

to over come  the
shortcomings of pyramid of]
numbers it is used.

to compare the functioned
roles of the trophic levels in
an ecosystem, it is used.

(i1) Pyramid of biomass—

(iii) Pyramid of energy—
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General Knowledge

1. Depreciation of fixed assets is an example

(a) deferred revenue expenditure
(b) capital expenditure
(c) capital gain
(d) revenue expenditure
Ans. (b) : All the areas which get capital from the
government are part of the capital expenditure. These
includes—
(i) Loan distribution by the Government—internal
or external.
(i1)) Loan Repayments by the Government—only the
capital part of loan.
(iii) Plan expenditure of the government.

(iv) Capital expenditures on defence by the
government

(v) General services like railways, postal
department, water supply, education, rural

extension, industrial development etc.

(vi) Other liabilities of the government i.e. all the
repayment liabilities of the government on the
items of the other receipts.

(vii) This is done irregularly and it is also called the
developmental expenditure. Depreciation of
fixed assets, like buildings, dams, industries,
etc. are example of capital expenditure.

2. Which one of the following is not a feature of

monopolistic compentition?

(a) Large number of buyers and sellers in the
market

(b) Differentiated products constitute the market

(c) Product in the market is homogeneous

(d) Selling costs are used for sale promotion

Ans. (c¢) The main features

competition are :

(1) Large number of buyers and sellers.

(2) Free entry and exit of firms.

(3) Product differentiation.

(4) Selling cost — Advertisement is the most
important constituent of the selling cost which
affects demand as well as cost of the product.
Lack of perfect knowledge.

Less mobility.

More elastic demand in order to sell more, the

of monopolistic

6))
(6)
(7

[Exam Date : 23 January, 2018

3. What is the maximum loan amount permissible
under the MUDRA Yojana?

(a) Rs. 50,000 (b) Rs. 1 lakh
(c) Rs. 5 lakh (d) Rs. 10 lakh

Ans. (d) : For the strengthening of micro units the

Government of India launched the Micro Units

Development and Refinance Agency Bank (MUDRA

Bank) with the aim of funding these non - corporate

enterprises. This was launched as the PMMY (Prime

Minister Mudra Yojna).

Main features of MUDRA Bank

= The micro units can avail up to Rs. 10 Lakh
loan through refinance route. (through the
public and private sector banks, NBFCs, MFIs,

RRBs, District bank etc.)

There are three finance schemes under this

named Shishu (loan upto Rs. 50,000), Kishor

(Rs. 50,000 to Rs. 5 lakh) and Tarun (Rs. 5

lakh to Rs. 10 lakh).

4. As per a latest classification of countries by the
World Bank India now belongs to which of the
following category?

(a) Upper-lower income country
(b) Lower-middle income country
(c) Middle-middle income country
(d) Lower-upper income country

Ans. (b): In the year 2017, according to the survey
organised by the world bank, the classification of the
countries on the basis of income has done in which
India is placed in the group of lower-middle income
country. The neighbours of India like Bangladesh,
Bhutan, Myanmar, Pakistan, Srilanka also in the same
category.

5. As per census 2011, which state had the lowest
sex ratio?

(a) Punjab (b) Haryana

(c) Uttar Pradesh (d) Bihar

firms must reduce its price.

Ans. (b) : As per the census of 2011, Haryana had the
lowest sex ratio, then it was 878. Government of India
has taking many initiative to improve the sex ratio. Beti
Bachao Beti Padhao is the main focus which was
launched on 22™ January 2015, from Panipat, Haryana.
States with higher sex ratio is — Kerala — 1084,
Tamilnadu — 996, Andhra Pradesh — 993, Manipur —
992, Chhatisgarh — 991, while at all India level sex ratio

is 943.
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6. Pluralist Theory of Sovereignty emphasizes the
importance of which of the followings?
(a) Association (b) Monarch
(c) State (d) Government

Ans. (a) : Pluralist Theory of Sovereignty emphasizes
the importance of Association. In modern era the
famous propounder of pluralist theory is ‘Gierke'
Germany and 'Maitland' in England. According to them
the associations existed in the society have their own
independent and stable personality and also have their
own conscious and desire. These associations have their
few rights which they used upon the members of the
society. Hence sovereignty should be divided between
states and association.

7. In which of the following countries the system

of judicial review was originated?

(a) France (b) Germany

(c) USA (d) Britain
Ans. (¢) : Judicial review system was originated in the
USA. In Indian Constitution it is the power of the
Supreme Court to examine the constitutionality of
legislative enactments and executive orders of both the
Central and State governments and can declare them
illegal if found violative of the constitution. Judicial
review is needed to uphold the supremacy of the
constitution, to maintain federal equilibrium and to
protect fundamental rights. The difference between
USA and Indian judicial review system is that in USA
the constitution provides for 'due process of law' while
Indian Constitution contained the 'procedure established
by law.

8. Under which article of the Indian Constitution
is the District Planning Commission
constituted?

(a) Article 243 ZD (b) Article 244 ZD
(c) Article 242 ZD (d) Article 243 ZE

Ans. (a): According to the Article (243 ZD) of the
Indian Constitution every state shall constitute at the
district level, a district planning committee to
consolidate the plans prepared by Panchayats and
municipalities in the district, and to prepare a draft
development plan for the district as a whole. The act
lays down the 4/5" of the members of a district
planning committee should be elected by the elected
members of the district panchayat and municipalities in
the district from amongst themselves, whose
representation in the committee should be in proportion
to the ratio between the rural and urban populations in
the district.

9. Which kind of majority is required for
constitutional amendment in forming a new

Ans. (a) : A numbers of provisions in the constitution

can be amended by a simple majority of the houses of]

parliament outside the scope of Article 368. these

includes :

1. Admission or establishment of new states :

2. Formation of new states and alteration of areas,
boundaries or names of existing states.

3. Abolition or creation of legislative councils in
states.

4. Second schedule emoluments, allowances,
privileges and on of the president, the governors,
the speakers judges etc.

5. Citizenship— acquisition and termination.

6. Elections to parliament and state legislatures.

7. Delimitation of constituencies.

8. Fifth and sixth schedule etc.

10.  Which officer of the Government of India has

the right to take part in the proceedings of
parliament of India even though he is not a
member?

(a) Vice-President

(b) Attorney General of India

(c) Comptroller and Auditor General

(d) Election Commission

Ans. (b) : The constitution (article 76) has provided for
the office of the attorney general for India. He is
appointed by the president and qualified to be appointed
a judge of the supreme court. He holds office during
the pleasure of the president. His main duty is to give
advice to the government of India upon such legal
matters, which are referred to him by the president
under article 143. He has the right of audience in all
courts in the territory of India and has the right to speak
and to take part in the proceedings of both the houses of
parliament or their joint sitting and any committee of]
the parliament of which he may be named a member,
but without a right to vote.

11.

The term ‘Stupa’ is associated with which of
the following event of Gautam Buddha’s life?
(a) Death (b) First Sermon

(c) Birth (d) Renunciation

Ans. (a) : After the Mahaparinirvana of the Buddha,
their remains were cremated and the ashes divided and
buried under eight mounds with two further mounds.
The relics of the Buddha were spread between eight
stupas, in Rajagriha, Vaishali, Kapilavastu, Allakappa,
Rawagrama, Pava, Kushinagar and Vethapida. At the
age of 29, he renounced home which is known as
'Mahabhinishkramana' Buddha gave his first sermon at

s(t;)te;m le sarnath which is known as Dharmachakrapravartana.
(b) Twop—third 12. Who was the last ruler of the qupta Dynasty?
(c) Three-fourth (a) Puru Gupta (b) Vishnu Gupta
(d) Two-third plus ratification by half of all states (c) Skanda Gupta (d) Kumar Gupta
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Ans. (b): The last ruler of the Gupta dynasty was
Vishnu gupta who ruled about till 550 AD. According
to a Nalanda seal, Vishnu gupta was son of
Kumaragupta, and grandson of Purugupta. The empire
was founded by the king Srigupta but the finest
important ruler of the dynasty was Chandragupta I who
established the prestige of dynasty and seems to have
started the gupta era in AD 319-20 another important
ruler was Samudragupta Who is known as the Napoleon
of India.

Chandragupta II, who adopted the little of Vikrmaditya,
reign saw the high water mark of gupta empire in the
field of literature.

13.  Where was Guru Govind Singh educated and
learnt Persian?
(a) Lahore (b) Amritsar
(c) Patna (d) Anandpur Sahib

Ans. (d) : Guru Govind Singh was born on december
26, 1666 at Patna. He was the 10th and last Guru of]
sikhs. He also learned Persian language. He started the
tradition of 'Pahul' and laid the foundation of Khalsa.
The khalsa were to regard themselves as equal between
themselves. As the external marks of distinction, they
had to keep five things on their person, each beginning
with the letter 'K' i.e. Kesh, Kangha, Kachha, Kara,
Kripan. A strict code of social conduct was prescribed
to the Khalsha.

14.

Which of the following was the precursor of
Indian National Congress?

(a) Servents of India Society

(b) Indian Association

(¢) Indian National Union

(d) Indian League

Ans. (b) : Indian association was founded in 1876 by
youngs nationalists of Bengal led by surendra nath
Banerjee and Ananda Mohan bose in Calcutta. It was
the most important of pre—congress associations and
aimed to

(i) Create a strong public opinion on political
questions, and
(ii)) Unite Indian people on a common political

programme.

Indian league was founded by Shishir Kumar Ghosh in
September 1875 in Calcutta. Servant of India society
was founded by Gopal krishna Gokhle in 1905 in
Bombay.

16. What is the second most abundant element on
Earth’s crust?

(a) Carbon (b) Silicon

(c) Oxygen (d) Hydrogen

Ans. (b) : The most abundant elements on the Earth's
crust is — Oxygen (46%), Silicon (27.72%), Alluminium
(8.13%), Iron (5%), Calcium (3.63%), Sodium (2.83%),

Potassium (2.59%), Magnesium (2.09%), others
(1.41%).
17. What is called a shallow stratch of river that
may be crossed on feet?
(a) Fiord (b) Atoll
(c) Reef (d) Lagoon

Ans. (a) : Fiord :— Where the lowers end of the trough

is drowned by the sea it terms a deep steep—side inlet

called 'Fiord' as on the Norwegian and Chilean coasts.

®m  Atoll are low islands found in the tropical ocean
consisting of coral reefs surrounding a central
depression. It may be a part of the sea (lagoon) or
sometimes from endusing a body of fresh, brackish,
or highly saline water.

m A reef is a bar of rock, sand, coal or similar
material, lying beneath the surface of water.

® A shallow lake is formed between the sand and the
sea coast, called lagoon. Such a lake is called kayal
in Kerala.

18.  Which among the following is a cold-dry wind?

(a) Hurricane (b) Tornado

(c) Bora (d) Cyclone

Ans. (¢) : Bora is a dry and very cold wind which blows

on the eastern side of Adriatic sea. It mainly affects the

Italy and Yugoslavia (Serbia).

®  Hurricane is a tropical cyclone which is very
destructive and powerful. It is known as cyclone in
Indian ocean and as typhoon in north western
pacific ocean near China, Philippines and Japan.

® Tornado are smaller in size in comparison to
cyclones but have very devastative nature. It occurs
mainly in U.SA.

19. The man-made reservoir Gobind Sagar located
in Bilaspur is situated in which of the following
states?

(a) Uttrarakhand

(c) Punjab

(b) Uttar Pradesh
(d) Himachal Pradesh

15.  During which governor general’s time was the | |Ans. (d) : Gobind Sagar is a man made reservoir
annexation of Sindh in British State done? situated in Bilaspur district, Himanchal Pradesh. It is
(a) Lord Dalhousie (b) Lord Chelmesford | |formed by the Bhakra dam on Satlaj river and is named
(c) Lord Ellenborough (d) Lord Hastings in honors of Guru Gobind Singh. It is on of the world's

Ans. (c) In 1943, under Governor-General|||highest gravity dam, nearly 2255 m above its

Ellenborough Sindh was merged into the British empire| | [foundation.

and charles Napier appointed its first governor. In the|[20. Which among the following rivers does not

period of Ellenborough the slavery was abolished by flow from East to West?

the rule (v) of 1843 act. The period of Ellenborough is (a) Narmada (b) Tapti

called the period of skilled indignity. (c) Cauvery (d) Mahi
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Ans. (c): Narmada, Tapti and Mahi river flows from
east to west. Narmada, Tapti flows through a rift valley
while Kaveri river originates from the Brahmagiri hill
of Kodagu district of Karnataka and flows towards bay
of Bengal. It is also called 'Dakshin ki Ganga'. Kaveri
river carries water through out the year.

21.

Which of the following historical monument
has been choosen as a “Swachh Bharat Icon”
by the Union Government on Novemebr 21,
2017.

(a) Haveli Dharampur
(c) Amaravati

(b) Charminar
(d) Vishwa Bharati

Ans. (b) : Charminar, Hyderabad's historic emblem, has
been choosen as a Swachh Bharat icon by the union
Government. The monument is one among the 10 icons
choosen in the second phase of the Swachh Bharat
mission. The fifth ruler of the Qutb Shahi dynasty,
Muhammad Quli Qutb Shah, built the charminar in
1591 after shifting his capital from Golkonda to the
newly formed city of Hyderabad.

22.

As per a recent announcement, where will
India’s first Electronic Manufacturing Cluster
(EMC) come up?

(a) Andhra Pradesh (b) Mabharashtra

(c) Rajasthan (d) West Bengal

Ans. (a) : India's first electronic manufacturing cluster
will be coming up to Andhra Pradesh. The government
of India, through the ministry of electronics and
information technology (MEITY), had announce in
2012 about setting up an EMC in India, with grant—in—
aid for establishing such clusters. An EMC is designed
and developed for providing facilities and amenities for
manufacturing mobiles and allied products.

23.

Which of the following is a multilevel global
campaign to spread awareness about
importance of girl’s education?

(a) Girl Rising

(b) Most Important Part of our Life:Girls

(c) Save Girls: Educate Girls

(d) Education of Girls

Ans. (a) : Girl Rising is a multilevel global campaign to
spread awareness about importance of girl's education.
It works to get the girls in schools because it is the best
way to end global poverty. It works by providing stories
about ordinary but extraordinary girls— as films, TV and
radio programs, curriculum, and storybooks— providing
a new and different vision for a girl's future.

24,

Which country will host the Summer Olympics

25. Which of the following sportsperson is not
correctly matched with their respective
discipline?

(a) Jitu Rai : Shooting

(b) P.V. Sindhu: Badminton

(c) Sakshi Malik: Boxing

(d) Deepa Karmakar: Gymnastic

Ans. (¢) :
Sport Sports person
(i) Shooting Jitu Rai
(i1) Badminton P.V. Sindhu
(i1) Wrestling Sakshi Malik
(iv) Gymnastic Deepa Karmakar
26. “A Better India: A Better World” is written

(a) Arun Jaitley

(b) Aamer Hussein

(¢) N.R. Narayan Murthy
(d) C.Raja Mohan

Ans. (c) : "A Better India : A better world" : is written

by N.R. Narayan Murthy, other book — "A clear blue

sky: stories and poems on conflict and hope."

®  Books by C. Raja Mohan— "Modi's world
expanding India's sphere of influence", "Samudra
Manthan : Sino Indian rivalry in the Indo—pacific.

®  Aamer Hussein is a Pakistani writer who has
published five collections of short stories, most
recently insomnia.

= Arun Jaitley is the minister of finance, government
of India. His famous book is "Andhere se Ujale ki
ore"

Which among the following has won the Nobel
Prize for Chemistry in October 2017?

(a) Jacques Dubochet

(b) Joachim Frank

(c) Richard Henderson

(d) All options are correct

Ans. (d): The Nobel prize for chemistry in October

2017 was given to Jacques Dubochet, Joachim Frank

and Richard Henderson For developing cryo—clectron

microscopy for the high-resolution structure

determination of biomoleules in solution.

®  The noble prize of chemistry for the year 2018 is
given to George P. Smith, frances H Arnold and
Greg winter. Frances H Arnold become the fifth
woman to be awarded the prize for her work with
the directed evolution of enzymes while Dr. Smith
given for his work in developing phase display and

27.

2020? Dr. Winter awarded for developing antibodies for
(a) Qatar (b) Tokyo curing metastatic cancer.
(c) Rome (d) Jakarta 28. On birth anniversary of social reformer
Ans. (b) : Tokyo (Japan) will host the summer Basavana how many volumes of Vachana were
Olympics 2020. Tokyo was selected as the host city released by Narendra Modi in April, 2017?
during the 125™ session in Buenos Aires on 7 (a) 21 (b) 20
September 2013. (c) 23 (d) 25
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Ans. (¢): On birth anniversary of social reformer
Basavana 23 volumes of Vachana were released by
Narendra modi in April 2017. Basvana was a 12"
century philosopher, statesman Kannada poet in the
Nirakara Shiva— focussed Bhakti movement and a
social reformer during the reign of the Kalchuri
dynasty.
29. In May 2017, with which country India has

signed an agreement on Maritime Security?

(a) Sri Lanka (b) Bangladesh

(c) Mauritius (d) China
Ans. (c) : India and Mauritivs signed an agreement for
maritime security in may 2017 at New Delhi.

30.

Which neighbouring country of India measures
prosperity by gauging its citizens’ happiness
level?

(a) Pakistan (b) Nepal

(c) Sri Lanka (d) Bhutan

Ans. (d) : Bhutan, the neighbouring country of India
measures prosperity by gauging its citizen's happiness
level. On the lines of Bhutan the Madhya Pradesh
government also announces a 'happiness ministry' to
measure the states happiness in 2016. Bhutan is a land
locked contry surrounded by China (Tibbet) and India
which is famous for Budhist tradition.

31.

In which communication mode, data can be
transmitted in both directions at same time?

(a) Simplex (b) Full duplex

(c) Half duplex (d) Mulitplex

Ans. (b) : Communication channels are of there types :—
1. Simplex— In this model the data communcation is
unidirectional that means we can only send the data.

2. Half duplex— In this model the data communication
is bidirectional but at a time only one directional flow of]
data can take place that means at a time either we can
send the data or receive data.

3. Full duplex— In this model the communication of]
data is bidirectional that means at a time we can send
data as well as receive too.

32.

The computer program that converts assembly
language to machine language is called.........
(a) Complier (b) Interpreter

(c) Assembler (d) Comparator

Ans. (¢) : Computer doesn't understand the programes

written in assembly languages, it can only understand

the symbols of '0' and 'l' i.e. the machine language.

Assembler is a program that converts assembly

language into machine language.

= A complier is computer software that transforms
computer code written in one programming
language into another programming language.

= An interpreter is a computer program that directly
excutes, or performs, instructions written in a
programming language without compiling into
machine language.

®  comparator is used to compare two voltages or
currents and outputs a digital signal indicating
which is larger.

Which is a base metal of amalgam alloy?

(a) Aluminium (b) Mercury

(c) Copper (d) Zinc
Ans. (b) : An amalgam is an alloy of mercury with
another metal, which may be a liquid or solid depending
upon the proprotion of mercury. Almost all metals can
form amalgams with mercury but there are also
exceptions such as iron, platinum, tungstan, tantalum.
Silver—mercury amalgams are used in dentistry and
gold—mercury is used in extraction of gold from ores.

34.

33.

Which of the following is the structure of
graphite?

(a) Rigid three- dimensional

(b) Hexagonal

(c) like Football

(d) No option is correct

Ans. (b): Graphite is an allotrope of carbon and its
structure is in the form of Hexagonal lattice layer.
Graphite occurs in metamorphic rocks as a result of the
reduction of sedimentary carbon compounds and
dilectricity. It is also called black lead. It is used in the
making of lead of pencils, electrode and carbon arch
and in dry lubricants as used in the machines.

35.

A wooden spoon is dipped in a cup of ice
cream. Its other end will............

(a) become cold by the process of conduction

(b) become cold by the process of convection

(c) become cold by the process of readiation

(d) not become cold

Ans. (d) : A wooden spoon is dipped in a cup of ice

cream. Its other end will not become cold since wood is

bad conductor of heat.

®m  Conduction takes place in the solid and convection
takes place in the liquid while radiation is the
process of heating in gases.

36. Which acid is the most abundant acid found in

grapes?

(a) Oxalic acid (b) Ascorbic acid

(c) Tartaric acid (d) Formic acid

Ans. (c) Tartaric acid (C;HgO4) is an organic

compound which is naturally found in many plants. It is

found in excess in grapes and tamarind.

m  QOgxalic acid (C,H,0,) is a dicarboxylic acid also
found in the form of potassium salts in vegetations.
It is also found in the term of salt of potassium—
hydrogen in the form of plants as oxalis and rumex.
It is also found in the stone in the kidney.

®  Formic acid is basically found in red ants and bees
this is used as a insecticide, in the form of medicine
of artherites, in the manufacturing of rubber leather,
cloth etc.
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®m  Ascorbic acid is an organic acid soluble in water
and found in citrus fruits. It is also called 'vitamin
C'.

The splitting of white light into its component

colours is called............

(a) diffraction (b) refraction

(c) dispersion (d) scattering

37.

Ans. (¢) : The splitting of white light into its component
colours is called dispersion of light. It is mainly occurs
when light ray incident upon a prism.
= Bending of light, travelling in a straight line from
the corner of an obstacle while passing through it is
called diffraction.
= When a light ray passes from one transparent
medium  to  another  trasparent  medium
perpendicularly at only plain on a line dividing both
the mediums, then it deviates from its direction, this
is called refraction of light.
= When light waves falls on extermely small bodies
such as dust particles etc. Then these are thrown out
in all directions this is known as scattering of light.
Which of the
CORRECT?
I. Change in magnetic filed produces induced
current.
Flow of current in a conductor produces
magnetic filed.
Magnetic filed related to coil can be
produced by motion between conductor
and coil.
(a) Only I and II
(b) Only I and III
(c) Only II and III
(d) All statements are correct.

38. following statements are

II.

I11.

Ans. (d): The region or space around a magnet through
which any other magnetic material experience a force of]
attraction or repulsion is called magnetic field.

® Change in magnetic field produces induced current
and flow of current in a conductor produces magnetic
field. Magnetic field related to coil can be produced by
motion between conductor and coil.

39.

Which gas is used as a fuel in a rocket?

(a) Radon (b) Hydrogen

(c) Chlorine (d) Nitrogen

Ans. (b): Liquified Hydrogen is used as a propellant
fuel in the rockets. It is clear that when Hydrogen burnt
it produces water as a byproduct. Hence it can be
classified as a clean and ecofriendly fuel. In the
universe the most abundant element is hydrogen.

40. Which of the following is good insulator?
(a) Mercury

(b) Cadmium

(¢) Germanium

(d) Glass

Ans. (d) : Amongst the above the Glass is very good
insulator. Glass is a non—crystalline amorphous solid
which is transparent and has many applications in
practical, technological and decorative usage. The most
common glass are "silicate glasses", made of silica. The
main difference between the solid and the glasses is that
the glasses don't have any definite melting point.

41.

Which is the most abundant Vitamin found in
carrot?

(a) Vitamin A

(b) Vitamin B

(c) Vitamin C

(d) Vitamin D

Ans. (a) : The most abundant vitamin found in carrot is
'Vitamin A'. The chemical name of vitamin A is retinal.
It is a highly unsaturated alcohol soluble in fat. It is
important for growth and development, to the
maintenance of immune system and good vision. The
deficiency of vitamin A causes night blindness, hyper
keratosis etc. The main source of vitamin-A is leafy
vegatables, carrots, fish, milk, ripe yellow fruits etc.
liver of animals can also store enough vitamin-A to
protect from long periods of dietary scarcity.

42.

How the rate of absorption of water through
roots can be increased?

(a) Keeping the plants in the shade

(b) Keeping the plants in the dim light

(c) Keeping the plants under the fan

(d) Covering the plants with a polythene bag

Ans. (c) : The rate of absorption of water through roots
can increased by keeping the plants under the fan. Due
to this more transpriration occurs and the scarcity of]
water in the stomata and flacidity takes place to
overcome this situation plants will take more water
from the roots.

43.

A spore producing plant is.........

(a) rose (b) bread mould

(c) potato (d) ginger

Ans. (b) : Bread mould is Rhizopus stolonifer, is a
common type of fungus. It grows and reproduces
through spore production in asexual reproduction, the
mould makes spores inside a sporangium. When the
spores are ready to leave and spread more mould the
soprangium breaks open and bit the spores float out in
sexual reproduction, genetic re-combination takes place,
as with all eukaryotes.

Rocket works on the principle of conservation of|44. Which chromosome is responsible for
momentum. Propellants in the rockets can be in the manliness in man?

form of solid, liquid or gas, each with their own (a) XO (b) YO

advantages and disadvantages. (c) XX (d) XY
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Ans. (d): The humans have 23 pair of chromosome that
means 46 in number. Among these 22 pairs of
chromosomes are similar (autosomes) but in male 23rd
pair of chromosome is heterotype which is called
allosome in mammals, females are XX, so they can pass
along either of their X's while males have XY, so they
can pass along either and X' or a 'Y". A 'Y' sperm and
X' egg produce a female. Hence the part of Y-
chromosome which is responsible for maleness is the
sex determining region of the 'Y' chromosome.

45. The human eye forms the image of an object at
itSeeeeenann.
(a) cornea (b) iris
(c) pupil (d) retina

Ans. (d) : The human eye forms the image of an object
at its retina. The retina is the innermost, light sensitive
transparent layer of cell tissue of the eye. It consists of]
several layers of neurons interconnected by synapses.
Retina is basically a film of aplical nerves and these
nerves produce the sensation of the image formed in the
mind (brain). Thus shape, size and colour of the object's
image if observed by the human eye. Though the image
formed at retina is real and inverted but it the brain
realises it real created image.

46. Which of the following is NOT a multicellular
organism?
(a) Fungi (b) Spirogyra
(c) Hydra (d) Paramecium

Ans. (d) : Fungi, spirogyra, hydra is a multicellular
organism. Multicellular organism are those that consist
of more than one cell. Paramecium is an unicellular
organism, which comes under the categary of phylum
protozoa. All the metabolic activity takes place in
unicellular body. Other examples of unicellular
organism are Amoeba, Euglena, Tryponosoma etc.

47.

Which disease is caused by cadmium metal
pollution?

(a) Minamata

(b) TItai-Itai

(c) Asthma

(d) Dermatitis

Ans. (b): Itai—Itai disease is caused by cadmium metal
pollution. It causes severe pain in spine and joints.
Cadmium poisoning can also cause softening of the
bones and kidney failure. while minamata disease is
caused by excess of mercury (Hg) in the body. Other
diseases caused by metals are— Blue baby syndrome
black foot etc, which is caused by excess of nitrate and
Arsenic  respectively. Asthma is a common
inflammatery disease of the airways of lungs which is
caused by mainly Generic and environmental effects.

®  Dermatitis, also known as eczema, is a group of]
diseases that results in inflammation of the skin.
Which of the following is an organic gas?

(a) Carbon dioxide

(b) Carbon monoxide

(c) Ethylene dichloride

(d) Nitrogen dioxide
Ans. (c) : Ethylene dichloride (C,H4Cl,) is an organic
gas. The most common use of it is in the production of]

48.

vinyl chloride which is used to make PVC pipes,
furniture and automobile upholstery etc. Other organic
gases are—Methane, Ethylene, Acetylene, Ethene etc.

49.

Basel Protocol is related to which of the
following?

(a) Ozone layer

(b) Burning of forests

(c) Sea water pollution

(d) Trans-boundary hazardous dumping

Ans. (d): Basel protocol on the control of trans—

boundary movements of Hazardous wastes and their

disposal was adopted on 22 march 1989 by the

conference of plenipotentiaries in Basel, Switzerland, in

response to a public outcry following the discovery, in

the 1980's, in Africa and other parts of the developing

world of deposits of toxic wastes imported from abroad.

® Reduction of Hazardous waste generation and
promotion of environmentally sound management
of Hazardous waste.

®  Restriction on transboundary movements

= A regulatory system applying to cases where
transboundary movements are permissible.

®  Restriction of waste substances for recyling from I*
Jan 1998.

Which of the following is parasitic food chain?

50.
(a) Trees —Fruits eating birds— Lice and bugs
(b) Grass—Rabbit -»Fox —Tiger

(¢) Grass—> Grasshopper— Frog— Snake—
Hawk

(d) Phytoplankton—Zooplankton—
Hawk

Ans. (a) : Parasitic food chain starts with herbivore

Fish—

animals but the flow of energy takes place from larger
organism to smaller one. Hence the larger organism
called feeding is completed by feeding organism, called
parasits. Hence from above options the best example is

Trees — fruits eating birds — lice and bugs.
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General Knowledge

1. Which of the following is an indicator of the
financial health of a country?
(a) GDP (b) Inflation Index
(¢) Wholesale Index  (d) No option is correct

Ans: (a) GDP: GDP stands far gross domestic product.
It is a monetary measure of market value of all final
goods and services produced in a period of time.

Nominal GDP estimates are commonly used to
determine the economic performance of a whole

Ans: (d) Lakdawala Committee In 1993, An expert
group constituted to review methodology for poverty
estimation, chaired by D.T. Lakdawala, made the
following suggestions :

(1) Consumption expenditure should be calculated
based on caloric consumption.

(i1) State specific proverty lines should be constructed
and these should be updated using the consumer
price index of industrial workers in Urban areas and
consumer price index of agricultural labour in rural

arcas.

country or region, and to make international

comparision.

2. When workers move from one job to another
job is known as :...........

(a) Seasonal Unemployment
(b) Frictional Unemployment
(c) Classical Unemployment
(d) Voluntary Unemployment

5. When was the decimal system of currency
introduced in India?
(a) 1947 (b) 1952
(c) 1950 (d) 1957

Ans (b) Frictional Unemployment: Frictional
unemployment is when worker leaves their job to find
better ones. It's usually a voluntary exit but can also
result from a layoff or termination with cause. Friction
is the time, effort & expenses it takes the worker to find
anew job.

Friction is unavoidable. Workers must find new
opportunities, go on interviews and even move before
they can get new jobs. It is an inevitable part of the job
search process.

Ans : (d) The 1955 Indian coinage (Amendment) Act,
which came into force on April 1, 1957, introduced a
'decimal series'. The rupee was now divided into 100
paisa instead of 16 annas or 16 pice. The coins were
initially called 'naye paise' to distinguish them from the

previous coin.

6. Who was the first woman to be nominated as
the member of Rajya Sabha?
(a) Rajkumari Amrit Kaur
(b) Sucheta Kriplani
(c) Rukmini Devi Arundale
(d) Kamaladevi Chattopadhyay

3. Who is most benefited from inflation?
(a) Creditor (b) Business Man
(c) Debtor (d) None of these

Ans : (¢) In economics, inflation is a sustainable
increase in the general price level of goods & services
in an economy over s period of time. Basically inflation
is decrease in the value of money.

Inflation is good for debtor and bad for lenders
because it reduces the value of the money paid back to
the lender.

4. Which Committee's recommendations are
being followed for estimating Poverty Line in
India?

(a) Kelkar Committee
(b) Desai Committee
(c) Tendulkar Committee
(d) Lakdawala Committee

Ans : (¢) Devi Arundale was an Indian theosophist,
dancer and choreographar of Indian classic dance form
of Bharatnatyam, and an activist for animal rights &
welfare.

She also is the first ever woman in Indian history to
be nominated as the Rajya Sabha member. She is
considered the most important revivalist in the Indian
classical dance form of Bharatnatyam from its original

'sadhir' style.

7. Which of the following is Human Right under
Universal Declaration of Human Rights?
(a) Right to Education
(b) Right to food
(c) Right to equal access to public services
(d) All options are correct

Ans (d) Universal declaration of human rights
(UDHR) is a historic document that was adopted by the
united nations General Assembly at its third session on
10 December 1948 as Resolution 217 at the Palais de
Chaillot in Paris, France of the then 58 members of the
United Nations, 48 voted in favour, none against, eight
obtained and two did not rote.
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Declaration consists of 30 Articles of firming an
individuls rights which although not legally binding in
themselves.

8. Who was not a member of the Constituent
Assembly?
(a) Mahatma Gandhi
(b) Dr. Rajendra Prasad
(c) Sardar Patel
(d) G. V. Mavalankar

Sudra Mother. Mahapadma Nanda greatly extended the
boundaries of Magadha Empire. He said to have
uprooted all the kshatriya ruling dynasty of Northern
India like the Panchalas, Kurus, Asmakas etc and
annexed their states.

12. The Greek ambassador Megasthenese was in
the court of which of the following rulers?
(a) Ashoka (b) Chandragupta

(c) Bindusara (d) Chanakya

Ans : (a) The idea of constituent assembly of India was
first put forward by M.N. Roy in 1934. But this was
constituted under the cabinet Mission plan 1946. It first
elected for undivided India but after partition, some of its
members ceased to exist as a separate constituent assembly
created for Pakistan. Initially its total membership was kept
389. After partition, the constituent assembly of India had
299 representatives. These included 229 member from
province & 70 from princely states. There were total 9
women members also.

Ans: (b) Megasthenes was a Greek historian who came
to India in the fourth century BC as a representative or
ambassador of seleucus Nicator. He lived in the court of
Chandragupta Maurya for about five years (302-298
BO).

Megasthenes has written an account of India and also
that of Chandragupta's reign in his book entitled
"INDIKA".

9. Which of the following describes India as a
Secular State?
(a) Directive Principles (b) Preamble
(¢) Union List (d) State List

Ans : (b) Preamble of Constitution of India: "WE
THE PEOPLE OF INDIA having solemnly resolved to
constitute India into a SOVEREIGN, SOCIALIST,
SECULAR, DEMOCRATIC REPUBLIC and to secure
to all its citizens : JUSTICE, LIBERTY, EQUALITY
FRATERNITY.

IN OUR CONSTITUENT ASSEMBLY this 26th
day of November 1949, to HEREBY ADOPT, ENACT

13. The Persian translation of '"Mahabharata"
done in Mughal Period is known by which
name?

(a) Rekhta

(b) Risala-e-Haq Nama
(¢) Razmnama
(d) Safinat-ul-Auliya

Ans : (¢) Razmnama (Book of war) is a persian
translation of the 'Mahabharat'. In persian 'Razm' means
"war" and 'name' means "tale". In 1574 Akbar started a
Maktab Khana OR a house of translation works in
Fatehpur Sikri. He endorsed the work to a few officials
to make translations of the sanskrit books Rajatrangini,
Ramayana and Mahabharata into the Persian Language.

AND GIVE TO OUR  SELVES THIS
CONSTITUTION"
10. In India, the concept of single citizenship is

adopted from which of the following countries?
(a) Ireland (b) Australia
(c) Japan (d) England

14. In which year did Khudiram Bose tried to
assassinate Kingsford in Muzaffarpur?
(a) 1904 AD (b) 1906 AD

(c) 1908 AD (d) 1910 AD

Ans : (d) Indian constitution is unique in its contents
and spirit. Though borrowed from almost every
constitution of the world, but only features are
borrowed & drafted according to the Indian perspective.
Following 8 features are borrowed from Britain:

(i) Writs & Bicameralism

(il)) Offices of CAG

(ii1) Cabinet system of ministers

(iv) Bicameral Parliamentary system

(v) Single citizenship

(vi) Rule of law

(vii) Legislation

Ans : (¢) Khudiram Bose (3 Dec. 1989-11 Aug. 1908)
was an Indian Bengali revolutionary, one of the
youngest revolutioneries early in the revolutionary
movement for Indian Independence. On the day of his
hanging, he was only 18 Yr., 8 Months & 8 day old. He
was accused of bombing the carriage of kingsford. In
the attack, the wife and daughter of the barrister, Pringle
Kennedy were killed. He is known as the youngest
revolutionary in the entire freedom struggle in India.

15. Who was the first Indian to be elected as a
member of the British House of Commons?
(a) S.N.Bose (b) Motilal Nehru

(c¢) Dadabhai Naoroji  (d) Mangal Pandey

(viii) Speaker in Lok Sabha

11.  Who was the founder of Nanda Dynasty?
(a) Dhana Nanda (b) Mahendra
(c) Mahapadma Nand (d) Gaja Nanda

Ans : (¢) Mahapad ma Nanda, the founder of the Nanda
dynasty, proved to be a powerful ruler. From both the
Buddhist and Jain sources we come to know that he
belonged to very low family. Probably, he was born of a

Ans : (c) Dadabhai Naoroji, known as the "Grand old
man of India", was a Parsi intellectual, educator, cotton
trader, and on early Indian Political and social leader.
He was a liberal party member of parliament (MP) in
the United Kingdom. House of commons between 1892
and 1895, and the first Indian to be a British MP, not
with standing the Anglo Indian MP David Ochterlony
Dyce ombre, who was disfranchised for corruption.
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Naoroji is also credited with the founding of the Indian
National Congress, along with A.O. Hume and

Dinshow Edulji Wacha.

16.  Which of the following is known as 'Island of
Pearls'?
(a) Japan (b) Maldives
(c) Israel (d) Bahrain

Ans : (d) Bahrain is one of the smallest nation of

Arabian Gulf. Arabian gulf specially persian gulf is rich
with the animals that produces pearls. The pearl
fisheries of persian gulf is famous and very old (have
been prosecuted for more then two thousand year).
Bahrain being one of the main source of pearl fishing is
known as Island of pearls.
17. "Oder-Neisse Line" is a boundary between

which of the following countries?

(a) Israel and Philistines

(b) Germany and Poland

(c¢) China and Vietnam

(d) Mexico and USA
Ans : (b) Oder-Neisse line is the border between Poland
and Germany, running along the oder and Neisse rivers,
adopted at the Poland conference (August 1945) after
world war-II.

18.

Which imaginary line, located at zero degree
latitude, divides the earth into northern and
southern hemispheres?

(a) Tropic of Capricorn (b) Tropic of Cancer
(¢) Equator (d) None of these

Ans : (¢) An equator is the intersection of the surface of
a rotating spheroid (Such as a planet) with the plane
perpendicular to the axis of rotation and midway
between its poles.

On Earth, the equator is an imaginary line on the
surface, equidistant from the North Pole & South Pole,
dividing the earth into Northern & Southern
Hemisphere. It is about 40,075 km long, of which
78.7% lies across water and 21.3% over land.

19. Nathpa Jhakri hydel power project is located
on which of the following rivers?
(a) Sutlej (b) Jhelam
(¢) Chenab (d) Padma

Ans : (a) The Nathpa Jhakri Dam is a concrete gravity
dam on the Satlej river in Himanchal Pradesh, India.
The primary purpose of dam is hydroelectric power
production and it supplies a 1500 megawatts
underground power station with water. Before reaching
the power station, water is diverted through a 27.4 km
head race tunnel. Construction on the project began in
1993 and was completed in 2004.

20. Which of the following ports is the first port
that was developed after independence in
Gujrat State?

State in western India, near the city of Gandhidham.
Kandla was constructed in 1950 as the chief sea port
serving western India, after the partition of India &
Pakistan left the port of Karachi in Pakistan.

21. Which of the following states covered in
Namami Gange Programme?
(a) Uttar Pradesh
(b) West Bengal
(c) Jharkhand
(d) All options are correct

Ans : (d) Namami Gange Project is an ambitions Union
Government Project which integrates the efforts to
clean and protect the Ganga river in a comprehensive
manner. This project aims at Ganga Rejuvenation by
combining the existing on going efforts and planning
under it to create a concrete action plan for future.

This project will cover 8 states.

22.  Which of the following is a centrally sponsored
scheme to empower adolescent boys?

(a) AKSHAY

(b) SAKSHAM

(c) SABLA

(d) UIJWALA

Ans: (b) SAKSHAM is aimed at all-round development
of adolescent boys to make them self-reliant, gender-
sensitive and aware citizens as they grow up. This will
help to address gender violence and channelise their
energy for nation building. This scheme will cover all
adolescent boys (both school going and out of school)

in the age group of 11-18.

23.  Where will be held Kumbh Mela-2018?
(a) Ujjain
(b) Haridwar
(c¢) Nasik
(d) Allahabad

Ans : (d) The Kumbh mela to be held in Allahabad
(Prayag) in the year 2019 from 15™ of January till 4™ of
March. Kumbh mela is held every three years in each of
the four different locations—Allahabad, Haridwar, Nasik

and Ujjain.

24. Who won the
Championship 2017?
(a) Vladimir Fedoseev
(b) Vishwanathan Anand
(c) JuWenjun
(d) Padmini Rout

World Rapid Chess

Ans:(b) The world Rapid and Blitz Chess
Championships took place in Riyadh, Saudi Arabia 26th
to 30th December 2017. In the rapid event
Vishwanathan Anand beat Vladimir Fedoseev 1.5-0.5 in
a tie-break to win the title. The Blitz championship was

won by Magnus Cartsen of Norway.

25. As per on 27 December, 2017, which Indian
(a) Mundra (b) Kandla Cricketer has recorded maximum sixes in
(c) Hazira (d) Bhavnagar International One day Cricket?
Ans: (b) Kandla, also known as Kandla Port Trust or (a) M. S. Dhoni (b) Rohit Sharma
Deendayal Port is a seaport in Kutch district of Gujrat (c) Sachin Tendulkar  (d) Sourav Ganguly
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Ans : (b) In the year 2017 the Indian cricketer who
recorded maximum sixes in International one day
Cricket is Rohit Sharma.

M.S. Dhoni is the Indian Player who recorded
maximum sixes in their one day international carrier.

30. India and its which neighbouring country will
conduct joint tiger census using a globally
recognized method for the first time?

(a) Myanmar (b) Sri Lanka

(c) Nepal (d) Bangladesh

26.
written by
(a) Rajdeep Sardesai  (b) Aamer Hussein
(c¢) Abdul Haq (d) Tarun Vijay

"2014 : The Election that Changed India" is

Ans : (¢) For the first time, Nepal and India will
conduct a joint tiger census in their national parks,
forests and protected areas adjoining the two countries
by using a globally-recognised method-camera tapping

Ans : (a) The election that changed India is a 2015
book by 'Rajdeep Sardesai', a writer & journalist. In his
book, sardesai tells the story of Indian general election,
2014. Tt was released on 1 November 2014. The book
follows through the major stories of the 2014 Laksabha
elections which affected the fate of Narendra Modi,
Manmohan singh & Rahul Gandhi.

procedure from November 2017. By using this method,
officials can avoid chances of repeated counting of the
same tiger. The Chitwan National Park and Parsa wild
life reserve, which are the habitats of tigers in Nepal,
are adjacent to the Balmiki Tiger reserve in Bihar. The
tiger is regarded as an endangered animal and is listed
in the convention on International Trade in Endangered

27.
Chand Award in August 2017?
(a) Cheteshwar Pujara
(b) Sardar Singh
(¢) Syed Shahid Hakim
(d) Arokia Rajiv

Who among the following has received Dhyan

species (CITES).
31.  Which of the following is an operating system?
(I) Ubuntu (IT) Linux (IIT) Unix
(a) OnlylI
(b) Only II and III
(c) AllIL, IT and IIT

Ans : (¢) Dhyan Chand Award is India "highest award
for lifetime achievement in sports and games, given by
government of India. The award is named after the
legendary Indian hockey player Dhyan Chand. The
award was initiated in 2002. The award carried a cash
prize of INR 500000, a plaque and a scroll of honour. In
2017 it is awarded to— (i) Ghupendra Singh (Athletics)
(i1) Syed Shahid Hakim (Football) & (iii) Sumrai Tete
(Hockey).

(d) No option is correct

Ans : (¢) An operating system or "OS" is software that
communicates with the hardware and allows other
programs to sun. It is comprised of system software, or
the fundamental files your computer needs to boot up
and function. Every desktop computer, tablet and smart
phone includes an operating system that provides basic
functionality far the device. Following are some very
famous operating systems:

28.

contribution in music?
(a) Chennai (b) Pune
(c) Kolkata (d) Bengaluru

Which of the following city has been included
in UNESCO's creative cities network for

(i) Mac OS (i1) Unix

(ii1) Ubuntu (iv) Be OS

(v) IRIX (vi) MS-DOS

32.  Which of the following is NOT a logic gate?
(a) AND (b) OR
(c) NAND (d) All are logic gates

Ans:(a) UNESCO creative cities network was launched
in 2004. It aims to foster international cooperation with
and between cities committed to investing in creativity
as a driver for sustainable urban development, social
inclusion and cultural vibrancy. Chennai, the capital
city of Tamil Nadu was recently included in UNESCO's

Ans : (d) Logic gates are the basic bulding blocks of
any digital system. It is an electronic circuit having one
or more than one input and only one output. The
relationship between the input and the output is based
on certain logic. There are seven basic logic gates:

creative cities network for contribution in music. (i) AND (ii)) OR
29. Which of the following countries have ||(ii) NOT (IY) NAND
established new two-by-two  ministerial (V?. XOR (vi) NOR
dialogue in August 2017 for maintaining (vii) XNOR
peace? 33. In a reaction, what is the loss of hydrogen by

(a) India and Russia (b) India and China
(c) India and USA (d) India and Japan

substance called as?

(a) Reduction (b) Oxidation

Ans : (¢) India & United states of America (USA) have
established new two by two ministerial dialogue to
enhance strategic coordination between them and
maintaining peace and stability in the Indo-Pacific
region. The new dialogue format will replace the earlier
India - US strategic and commercial dialogue. It will be
similar to India-Japan 2 + 2 dialogue format between
foreign and defence secretaries of the two countries.

(¢) Hydronization
(d) Both reduction and hydronization

Ans : (b) The original view of oxidation & reduction is
that of adding or removing oxygen. An alternative
approach is to describe oxidation as the loss of
hydrogen and reduction as the gaining of hydrogen.
This approach has an advantage in describing the
burning of Methane.
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CH, +20, —» CO, +2H,0
By this approach it is clear that the carbon is oxidized
(because of loss of all 4 hydrogens).

34. Which of the following statement(s) is/are
CORRECT?
(I) Metallic oxides are said to be basic oxides
(I Non-metallic oxides are basic in nature
(IIT) All acids have similar chemical properties
(a) Only I and III
(b) Only II and III
(c) OnlyII
(d) All statements are correct

Ans : (a) Metallic oxides are basic in nature because

they react with dilute acids to form salt & water. They
also react with water to form metal hydroxides which
are alkaline in nature because these metal hydroxides
releases OH ions in solution.

On the other hand non-metallic oxides react with
tater to form acidic solutions which liberate H" ions in
solution. Therefore, non-metallic oxides would be
acidic in nature.

35.  Which of the following is an example of
colloidal solution of liquid in solid?
(a) Mud (b) Milk
(c) Cheese (d) Rubber

Ans : (¢) A colloidal solution, sometimes known as a
colloidal suspension, is a solution in which a material is
evenly suspended in the liquid. In other words, a colloid
is a microscopically small substance that is equally
dispersed throughout another material.
When dispersion medium is solid, the dispersed

phase can be solid, liquid or gas.
(i) Solid - Gemstones, Pearls etc.
(ii)) Liquid — Cheese, Butter etc...
(iii)) Gas — Pumic stone, Foam rubber etc.
36. Hydrogen chloride is

(a) diatomic

(c) poly-atomic

(d) No option is correct

(b)

triatomic

Ans : (a) Hydrogen chloride (HCI) is composed of one
atom of Hydrogen & one atom of chloride. So there are
total two atoms. So Hydrochloric acid. (either in gas or
liquid form) is diatomic by nature.
37. Which of the

refraction?

(I) The apparent displacement of a pencil,

partly immersed in water

(II) Sun appears before the sunrise

(IIT) Sky appears blue

(a) OnlyIand]Il

(¢c) Only II and IIT

(d) All statements are correct

following occurs due to

(b) Only I and III

Ans : (a) Refraction is the bending of wave when it
enters a medium where its speed is different. The
refraction of light when it passes from a fast medium to
a slow medium bends the light ray towards the normal

to the boundary between the two media. (Examples of

light refraction in daily life are following:

(1) See a filled glass of water. The bottom seems
raised.

(ii) Put a spoon in a transparent glass of water it tooks
bent.

(iii)Rainbow.

(iv) Sky is blue

38. What will be equivalent resistance of two
resistors R; and R, when connected in series?

(@ R -R, (b) R +R,
(R, +R)) (2RR,)
© RR, @ R, +R,

Ans : (b) Equivalent resistance when:
(i) Resistor Ry & R; connected in series Ry + R,

(i1) Resistor R; & R, connected in parallel L+L
1 2

39. The phenomena of electromagnetic induction is

the process of charging a body

the process of generating magnetic field due
to a current passing through a coil

induced current in a coil due to relative
motion between a magnet and the coil

the process of rotating a coil of an electric
motor

(©)
(d)

Ans : (¢) When ever there is a relative motion between
a magnet and a coil, a current is induced in the coil, this
phenomena is known as Electro magnetic induction in
which the electric current is induced in the coil due to

magnetic flux linkage.

40. Light waves are
(a) Electric waves
(b) Magnetic waves
(c) Electromagnetic waves
(d) No option is correct

Ans : (c¢) There are waves of energy and light moving
all around us in the form of TV and audio
transmissions, gamma radiation from space, and heat in
the atmosphere.

In his formulation of electromagnetism, Maxwell
described light as a propagating wave of electric and
magnetic fields. More generally he predicted the
existence of electro magnetic radiation coupled
electric and magnetic fields travelling as waves at a

speed equal to known speed of light.

41. Which disease is caused by deficiency of
Vitamin D?
(a) Polio (b) Rickets

(c) Scurvy (d) Goitre

Ans : (b) Rickets is a childhood bone disorder where
bones soften and becomes prone to fracture and
deformity. It is rare in industriallized nations, but fairly
common in some developing countries.

The main cause of rickets is a lack of Vitamin 'D'.

Also not consuming enough calcium can cause rickets.
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42. During exhalation, the ribs .........
(a) Move outwards

(b) Move downwards

(¢) Move upwards

(d) Do not move at all

Ans : (b) The process of taking in air rich in oxygen is
called inhalation. Similarly, The process of giving out
air rich in carbon di oxide (CO,) is called the
exhalation. One breath comprises one exhalation and
one exhalation. During exhalation, the rib move inwards
(downwards) and the diaphragm relaxes to return to its
normal position. The contraction of rib cage reduces the
size of the chest cavity.

Ans : (d) The central nervous system (also known as
CNS) is made up of the brain & spinal cord. CNS
controls most functions of the body and mind.

e The brain is center of our thoughts.

e Spinal cord is the highway for communication

between the body and the brain.

47. In 1956, Minamata disease was caused by
which type of pollution?

(a) Air pollution

(b) Water pollution

(c) Noise pollution

(d) Soil pollution

43.  On an average how many million Red Cells are
present in a healthy human adult man per mm’®
of blood?

(a) 5-55 (b) 2-25

) 15-2 d 9-95

Ans : (a) Red blood cells contains a substance called
hemoglobin which transports oxygen around the body.
The amount of oxygen that's delivered to your body's
tissues will depends on the number of red blood cells
(RBCs).

The normal RBCs count is as following:

(i) Male : 4.8 to 6.1 million/mm”.

(ii) Female: 4.2 to 5.4 million/mm3°.

Ans : (b) Minamata disease was first discovered in
Minamata city in Japan, in 1956. It was caused by the
release of methyl mercury in the industrial waste water
from the chisso corporations chemical factory, which
continued from 1932 to 1968. This highly toxic
chemical bio accumulated in shellfish and fish in the
Minamata Bay, which, when eaten by local populace,

resulted in mercury poisoning.

48. Which of the following is the best solution to
get rid of non-biodegradable wastes?
(a) Dumping (b) Burning
(c) Recycling (d) Burying

44. By which process, a tadpole develops into an
adult frog?
(a) Fertilisation (b) Metamorphosis

(c) Embedding (d) Budding

Ans:(¢) The best solution to get rid of non
biodegradable wastes is the 'recycling'. Recycling is the
process of converting waste materials and objects. It is
on alternative to 'conventional' waste disposal that can

save material and help lower green house gas emissions.

Ans : (b) A tadpole develops into an adult frog by the
process of metamorphosis. It is the change in the form
and often habits of an animal during normal
development after the embryonic stage. Metamorphosis
includes, in insects, the transformation of a maggot into

49. In which condition, tree is most vulnerable to
die?

(a) During loss of its bark

(b) During loss of its all leaves

(c) During loss of half of brches

(d) During loss of half of leves

an adult fly and a caterpillar into a butterfly.

45. Which of the following gets activated upon
illumination and generates electrical signal?

(a) Light sensitive cell

(b) Optic nerve

(c) Ciliary muscles

(d) Vitreous humour

Ans : (a) Tree is most vulnerable to die during loss of
its all leaves. As the leaves of a plant comes in various
shapes and sizes and they are vital to a plant's existence
as they play one of the most important functions. Most
plants are capable of making thin own food but would
be unable to do this without leaves. Food is produced in
a plant by a simple process called photosynthesis.

Ans : (a) The retina is the back part of the eye that
contains the cells that respond to light. These
speciallized cells are called photo receptor. Photo
receptars are of two types:

(i) Rods — more sensitive to light.

(i1) Cones — less sensitive to light.

50. Taiga is an example of which type of
ecosystem?
(a) Grassland ecosystem

(b)
(c)
(d

Forest ecosystem
Tundra ecosystem
Desert ecosystem

46. Which among the following constitutes the
central nervous system in human body?

(a) Only blood

(b) Only brain

(c) Only spinal cord

(d) Both brain and spinal cord

Ans : (b) Taiga, also known as boreal forest OR snow
forest, is a biome characterised by coniferous forests
consisting mostly of pines, spruces and larches. Taiga is
found throughout the high northern latitudes, between.
Tundra and temperate forest, from North 50° to North
70° but with considerable regional variation.
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General Knowledge

1. Bricks market can usually be kept in which
category of the market?
(a) local market
(b) Provincial market
(c) National market
(d) International market

Ans: (a) Guwahati Refinery was set up at Noonmati on
1 jan 1962. It was the first public sector refinary of
India & belongs to Indian Oil Corporation Limited.

Ans : (a) Local market constitutes of the customers who
will buy the product in the vicinity of where they are
produced. e.g- Bricks is manufactured by locally
available materials and demand of brick is also from the

6. What is the most important function of the
legislature?
(a) Establish peace in the state
(b) Making laws
(c) Pasing budget
(d) Control on the Executive

local market.

2. Which of the following is a fixed cost?
(a) Expenditure of raw materials
(b) Traffic expenditure
(c) Expenditure of machines
(d) Labour wage

Ans : (b) Union government is mainly composed of—

1) Legislative — Making law

2) Executive — Executes the law

3) Judicial authority — resolve any dispute arising within

public.

Ans : (d) A fixed cost is a cost that does't change with
an increase or decrease in the amount of goods or
service produced. e.g.-salaries & wages comes under
fixed cost because this is fixed compensation amount

7. Which one of the following does not come
under social rights?
(a) right of vote
(b) right to life
(c) Right to Religious Freedom
(d) Right to Education and Culture

Ans : (a) Right to vote is neither fundamental right nor

constitutional right but a mere statutory right or legal right.

paid to employees, irrespective of their hours worked.

3. Entertainment tax on cinema is paid by whom?
(a) By producer
(b) By finance-manager
(c¢) By Director
(d) By Audience

8. At present time how many Zonal Councils are
working in India?
(a) 4 () 5
(c) 6 @ 7

Ans : (¢) In India at present there are 6 zonal council.
Originally five (5) councils were created as per the

Ans : (d) The ticket price you pay includes the tax. So
any film if gives the entertainment tax than it is mainly

states Reorganization act 1956.

deducted from the cinema tickets.

9. Which of the following is not a work of
Election commission?
(a) Allotment of election symbols
(b) Fixing of election dates
(c) Keeping the fairness of the election
(d) Selecting Candidates for Election

4. National Telecom Policy was announce in
which of the following year?
(a) 2010 (b) 2011
(c) 2012 (d) 2013

Ans : (¢)

— The national telecom policy, 2012 was approved by
the union cabinet on May 31, 2012.

— The vision of this policy was—"to provide secene,
reliable, affordable and high quality converged
telecommunication service anytime, anywhere for on

Ans : (d) Selection of any candidate for election is done
by political party. or any individual can also fight in any
election, except he is fulfilling all the necessary criterias
to be a candidate.

accelerated, inclusive socio economic development."

5. Which of the following oil refineries is located
near the mineral oil field?
(a) Noonmati (b) Barauni
(c) Visakhapatnam (d) Kalpakkam

10. Which of the following states has bicameral
legislature?
(a) Uttarakhand (b) Himachl Pradesh

(¢) Maharashtra (d) West Bengal

Ans : (c¢) There are only 7 states which have two-tier of
legislature— (1) UP (2) Maharashtra (3) Bihar (4)
Karnataka (5) Andhra Pradesh (6) Telangana (7)
Jammu-Kashmir.
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11. The Harappan site "Manda'" was situated on
the banks of which river?
(a) Chenab (b) Sutlej

(¢) Ravi (d) Indus

17. Where is duration of the day night on Earth
are almost the equal?
(a) At the Equator (b) On the Poles

(¢) On Line of Capricon (d) On the Arctic Line

Ans (a) The northern most site of Harappan
civilization was Manda (in Jammu & Kashmir) which is

on the right bank of chenab.

12.  Which of the Rig Veda's Mandala is completely
dedicated to Soma?
(a) Seventh Mandala  (b) Eight Mandala
(c) Ninth Mandala (d) Tenth Mandala

Ans : (a) There are two equinoxes every year — around
20 March & 23rd september. When the sun shines
directly on equator and length of day and night is nearly

equal.

Ans : (¢) The ninth mandala of the Rigveda also known
as 'soma mandala' has 114 hymns, entirely devoted to

soma pavamana, "purifying soma".

13. Mongols under Genghis Khan invaded India
under whose reign?
(a) Balban

(c) Itutmish

(d) Muhammad-bin-Tughlaq

(b) Firuz Tughlaq

18.  Which of the following local winds is also called
"Doctor Wind"?
(a) Harmattan (b) Bora
(c) Mistral (d) Chinook

Ans : (a) In West Africa it is known as 'the doctor'

because of its invigorating dryness compared with
humid tropical air.
Harmattan wind, a dry, dusty, north-easterly wind

which occurs in west africa, north of equator.

Ans:(c) — Iltutmish was the real founder of Delhi sultanate.
— Due to his deplomatic skill, he prevented Mangol
attack by refusing to give refuge to an enemy of
Genghis Khan named Jalaluddin Monga Barani.

19.  Which of the following places is lacated near

the Equator?
(a) Kanyakumari (b) Rameswaram
(c) Pamban (d) Pygmalion Point

14. "Back to the Vedas', whose statement is this?
(a) Swami Vivekananda

(b) Swami Dayanand Saraswati

(¢) Swami Sharddhanand

(d) S. Radhakrishnan

Ans : (d) Indira point is the name of the southern most
tip of India. It was formerly known as Pygmalion Point

& Parsons point.

Ans : (b) Swami Dayanand is greatest assest was his
mastery over the Sanskrit language and the Vedas. In
the 1875 he founded Arya Samaj. Its main aim was to
propagate the true knowledge of vedas & discard all the
evils that had crept into the Hindu society. He
demolished the untouchability. His most important

20. In which state is the Mettur Dam located?
(a) Andhra Pradesh (b) Tamil Nadu
(c) Karnataka (d) Maharashtra
Ans : (b) Mettur dam is largest dam of Tamilnadu,

which is located across the river kaveri.

It was constructed in 1934 and took 9 year to complete
maximum height and width of the Dam are 214 and 171
feet respectively

work was Satyarth Prakash.

15.  Who was given the title of 'Punjab Kesari'?
(a) Ranjit Singh (b) Bhagat Singh

(c) Sardar Baldev Singh (d) Lala lajpat Rai

21.  Which banking entity was declared a domestic-
systemically bank (D-SIB) by the Reserve Bank
of India on September 4, 2017?

(a) State Bank of India (b) IDBI Bank

(c) ICICI Bank (d) HDFC Bank

Ans : (d) Panjab Kesari' title was given to Lala Lajpat
Rai. He was a prominent nationalist leader who played
an important role in India's freedom struggle. He was
one third of Lal, Bal, Pal trio.

Ans : (d) — Private sector lender HDFC Bank Ltd. has
been declared a domestic-systemically important Bank
(D-SIB) by RBI.

— HDFC Bank is 3rd bank in country to be added in

16. Which of the following order of planets is
correct as per distance the increasing order
from the Earth?

(a) Mars, Venus, Mercury, Jupiter

(b) Venus, Mars, Mercury, Jupiter

(¢) Venus, Mercury, Mars, Jupiter

(d) Mars, Venus, Jupiter, Mercury

list of D-SIBs after SBI & ICICI.

22. Which city became the ninth Indian city to
have its metro rail system on September 5,
2017?

(a) Hyderabad

(¢) Lucknow

(b) Kochi
(d) Nagpur

Ans: (b) Sun, Mercury, Venus, Earth, Mars, Jupiter
Saturn, Uranus, Neptune

On average Venus is nearest, Mars is another nearby
planet. So somtimes mars is closer but "More frequently'

Ans : (¢) > There are currently 11 operational Rapid
transit (Metro) systems in ten cities of India.

— The first rapid transit system in India is Kolkata
Metro in 1984.

— The newest metro open in Hyderabad Metro on Nov.

Venus is.

29,2017.
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23. Who was appointed as the Election
Commissioner in the 3-member Election
Commission of India 31 August 2017?

(a) Achal Kumar Joti  (b) Sunil Arora

(c) Om Prakash Rawat (d) Nasim Zaidi

This sitting Buddha sculpture which was displayed in
this gallery has its roots traceable to Mathura in U.P.
Archaeological survey of India (ASI) played important

role in this negotiation.

Ans : (b) Total - 3 members

Sunil Arora & Om Prakash Rawat — Election
Commissioner.

Achal Kr. Joti — Chief Election commissioner.

24. Who won the women's single title 2017 US
Open on 9 September 2017?
(a) Sloane Stephens (b) Madison Keys
(c) Venus Williams (d) Serena Williams

29. An agreement for a cultural exchange program
for the year 2017-2020 was signed between
in May 2017.
(a) India and Iran
(b) India and Afghanistan
(¢) India and Turkey
(d) India and South Korea

Ans : (a) > Sloane Stephens is an American tennis
player
— She won US Open by defeating Madison Keys
(2017).

Ans : (c¢) India and Turkey has signed agreement &
MoU's on several field—

(a) A MoU was signed between TRAI & ICTA Turkey.
(b) A MoU for cooperation between foreign service

Insititute of India & Diplomacy Academy of Turkey.

30. In which of the following country, India gave
Rs 35 crores to children of freedom fighters?
(a) Nepal (b) Bhutan
(c) Bangladesh (d) Myanmar

Ans : (c¢) India gave 35 crore Rs to children of freedom

25.  Which city will host the Summer Olympics for
year 2024?
(a) Los Angeles (b) Paris
(c) Rome (d) Buenos Aires
Ans : (b) Summer olympic games locations:
2020 — Tokyo
2024 — Paris
2028 — Los Angeles
26. "The Freethinker's Prayer Book: And Some

Word to Live by" is written by .
(a) Khushwant Singh  (b) Vinay Lokapalli
(¢) Khaled Ahmed (d) Natwar Singh

fighters in  Bangladesh  under,  "Muktijodha
Scholarship".
31. The most important advantage of an

Integrated Circuit is its

(a) easy replacement in case of circuit failure
(b) extremely high reliability

(c) reduced cost

(d) low power consumption

Ans: (a) Khushwant singh was an Indian novelist,
lawyer, journlist & politician. For his brilliant services
to the Indian society & culture, he was awarded with
Padma Bhusan, but due to his deep contempt for
operation blue star, he returned it back to the

Ans: (b) — All the & options are the advantage of an
Integrated circuit.
— But for the optional approach the most important

advantage is it extremely high reliability.

government.

27. Who won the Nobel Prize in Physiology or
Medicine in October 2017?

(a) Michael W. Young

(b) Micheal Rosbash

(c) Jeffry C. Hall

(d) All options are correct

Ans : (d) Nobel Prize in Physiology 2017 was awarded
jontly to Jeffry C. Hall, Micheal Rosbash and Michael
W. Young for — "molecular medanism controlling the
body's circadian rhythm".

28.

Who among the following has agreed to return
a 2000 years old Buddha idol to India?

(a) National Museum of Korea

(b) National Gallery of Art, Washington

(c) Australian Art Gallery

(d) British Museum

Ans : (c¢) Carberra based art gallery in Australia has
agreed to return a 2,000 yr old Indian origin sculpture of
Gautam Buddha back to India.

32. What are the components of a CPU in a
computer?
(a) Input, output and processing
(b) Control unit, primary and secondary memory
(c) Control unit, arithmetic logic unit and
register
(d) None option is correct

Ans : (c) Control Unit—Which extracts instructions
from memory and decodes and executes them, calling
on the ALU when necessary.

ALU-Which performs arithmetic and logical
operations.
CPU
('nm_m] ALU
Unit
INPUT —
Registers

T

Primary storage |

| Secondary storage I
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33.  Which of
CORRECT?
I. Ionic compounds have high melting and

boiling points.

the following statement are

II. Carbon compounds are poor conductor of
electricity.
III. Carbon compounds have low melting and
boiling point.
(a) OnlyIand]Il (b) Only I and III
(¢c) Only II and IIT
(d) All statements are correct

Ans: (d) — Ionic bonds are very strong in nature, so the
compounds made by the ionic bonds have very high
melting & boiling points. They are also a very good
conductor of electricity.

— While the Organic compounds are made by the
covelent bonds, which are weak as compare to ionic
bonds, so these compounds have lower boiling &
melting points.

34. How many hydrogen atoms are present in
chloropropane?
(@ 5 () 7
() 9 (d 3

Ans: (b) Chloropropane is a clear colourless liquid.
Having the chemical formula : C;H,Cl
CH,— CH.

e —a
To neutralize too acidic soil is used.
(a) quick lime
(b) slaked lime
(c) Both quick and slaked lime
(d) None option is correct
Ans : (¢) > Soil acidity can be corrected easily by
liming the soil for which quick lime & slaked lime both
can be used.

36.

35.

Which elements are present in stainless steel?
I. Carbon II. Chromium

III. Nickel IV. Manganese

(a) Only [, IT and III

(b) Only L, I1, IIT and TV

(c) Only I, Il and IV

(d) All given elements are present
Ans : (d) Stainless steel — It is also known as inox
steel.

— They are notable for their corrosion resistance.

— It is a metal alloy, made up of steel mixed with
elements such as Chromium, Nickel, molybdenum,
silicon, aluminium & carbon.

37.

The resistance of a metal conductor is

(a) Directly proportional to its length

(b) Directly proportional to its cross sectional
area

Inversely proportional to its length

No option is correct

(©)
(d)

L
Ans: (a) R=56.—
(a) A

0 — Resistivity
L — Length
A — Cross sectional area

R — Resistance

38. While moving from one end to another end
inside a solenoid, its magnetic field

(a) Increases

(b) decreases

(c) remains same

(d) first increases then decreases

Ans : (¢) Solenoid-Long, straight wire bent into several
closely-spaced loops.
— Magnetic field inside solenoid is uniform & outside

solenoid is non-uniform.

39. What kind of mirror would be best suited for
use in a solar cooker?
(a) Concave
(b) Convex
(c) Plane
(d) No option is correct

Ans : (a) All the rays of sunlight concentrates at a
particular point by using concave mirror, which is very
much desirable in the solar cooker. As more the
concentration of rays more would be the generation of
heat.

40. Silicon is which type of material?
(a) Semiconductor

(b) Insulator

(¢) Conductor

(d) No option is correct

Ans : (a) — Silicon is a chemical element with symbol
si & atomic No.-14.
— It is a tetravalent metalloid and semicconductors.

41.  Which vitamin is found in lemon?
(a) Vitamin A
(b) Vitamin K
(c) Vitamin C

(d) Vitamin D

Ans : (¢) > The Vitamin 'C' is found in citrus fruits
(orange, grape, lime, lemon etc.)
— Lemon contains 53 mg of Vitamin C per 100 gm of

lemon.

42. The blood clot formed is due to presence of
which of the following?
(a) Red Blood Cells

(¢) Haemoglobin

(b) White Blood Cells
(d) Platelets

Ans : (d) > Blood clotting or coagulation, is an
important process that prevents excessive bleeding

when a blood vessel is injured.
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— Platelets & Protiens present in plasma works to
together to stop the bleeding by forming a clot over the
injury.

48. Which is NOT an inorganic gas?
(a) Ammonia

(b) Hydrogen sulphide

(¢) Methane

(d) Carbon monoxide

43. By its which part Bryophyllum can reproduce?
(a) Sterm (b) Leaves
(c) Roots (d) Flower

Ans (b) Bryophyllum is a type of vegetative

propogation, which has buds, in the margins of leaves.
If leaf of this plant falls on a moist soil, each bud can
give rise to a new plant.

44. Sex of the baby depends on whose
chromosomes?
(a) Mother (b) Father

(¢) Both mother and father
(d) Grand mother

Ans : (¢) Methane is an organic gas. Because it is made
by Hydrogen & carbon atom. Chemical formula of
methane—CH,y Thus it is the hydrocarbon (infact
simplest hydrocarbon).

Ans: (b) A woman will always pass a female 'X'
chromosome via her egg to her child but the father
effectively "decides" the sex of the child by passing
another 'X' in his sperm, making a girl, or a 'Y’

chromosome, making a boy.

45. The change in focal length of an eye lens is

caused by the action of the
(a) pupil

(b) retina

(c) ciliary muscle

(d) iris

Ans : (c¢) Ciliary muscle is a sing of smooth muscles in
the eye's middle layer that controls accomodation of
viewing objects at varying distances, and regulates the

Configuration—
H
|
H- ? -H
H
49. Match the items given in column (A) with those

is column (B).
Column - B
Ozone layer

Column - A
I. Basel Convention 1.

II. Montreal Protocol 2. Hazardous waste

dumping
III. Kyota Protocol 3. Greenhouse gases
(a) I-1,1I-2, III-3
(b) I-3,1I-2,1II-1
(c) I-2,1I-1, III-3
(d) I-1,1I-3, II1-2

flow of aqueous hummour into schlemm's canal.

46. Which of the following statement is
CORRECT?
(a) Monera are multicellular
(b) Protista are always multicellular
(c) Fungi do not perform photosynthesis
(d) Fungi do not have cell wall

Ans : (¢) - Fungi are different from plant & animal
both.

— They have their separate kingdom.

— Fungi lack chlorophyll and do not engage in photo

Ans : (¢) — Basel Convention-It is an international
treaty which was designed to reduce the movements of
hazardous waste between nations, and specifically from
developed to less developed countries (LDC's)

— Montreal Protocol-It is an international treaty
designed to protect the ozone layer by phasing out the
production of numerase substances that are responsible
for ozone depletion.

— Kyoto Protocol-It is an international agreement
linked to the UNFCC, which commits its parties by

synthesis.

47.  Which of the following disease is NOT caused
by metal toxicity?
(a) Minamata
(b) Itai-Itai
(c) Dermatitis
(d) Both Minamata and Itai-Itai

setting internationally binding emission reduction
targets.
50. Identify correct type of food chain.

Grass — Rabbit —» Fox

(a) Decomposer food chain
(b) Detritus food chain

(¢) Grazing food chain

(d) Parasitic food chain

Ans : (¢) > Dermatitis is also known as eczema, which
is a group of disease that results in inflammation of the
skin.

— Minamata is caused by the accumulation of mercury

Ans : (c) Basically there are two types Food chain—

(a) Grazing—Starts with green plants which one
producers.

(b) Detritus—Starts with dead organic matter which is
eaten by animals which in turn are eaten by other

in human body.

animals.

SSC JE Online Civil 2018 (Ex. date 24 1. 2018) 3.15 pm

43




SSC Junior Engineer Online Exam 2018
CPWD/CWC/MES
CIVIL Engineering

Time : 10-15 am]

[Exam Date : 25 January, 2018

General Knowledge

1. In a period of inflation and price rise the
supply of money
(a) Increases
(b) decreases
(c) remains the same
(d) increases or decreases proportionately
Ans. (a) : In Inflation the value of money decreases &
the price of any commodity increases.
Increasing the money supply faster than the growth is
real cause inflation. Reason is that there is more money
closing the same number of goods.

2. Who among the following is related with
'Labour Theory of Property'?
(a) Adam Smith (b) John Locke
(c) J.S. Mill (d) J.J. Rousseau

Ans. (b) : 'Labour theory of property’ which is also
known as Labour theory of appropriation OR Labour
theory of entitlement is a theory of Natural law which
was given by Philosopher John Locke According to this
theory, "When a person works, that labour enters into
the object thus the object becomes property of that
person".

3. Which is India's first "Global Telecom City" in
the following ?

(a) Hyderabad (b) Noida

(c) Kolkata (d) Bengaluru
Ans. (d) Bengaluru is India's first 'Global
Telecomcity'.

4. According to World Bank what was the
approximate land utilization percentage of
India for agriculture purposes ?

(a) 50% (b) 60%
(c) 70% (d) 45%

Ans. (b) : 58.8% of land was utilized for agriculture

purpose in 2015.

By optional approach it is 60%.

5. Which among the following was used as the
motto for Census of India 2011?

(a) Our Country, Our Family
(b) Our Duty, Our Census
(c) Our Census, Our Future
(d) Our Country, Our Census

Ans. (¢): The motto of census 2011 was "Our census,

our future'

Census 2011 was 15th Indian census conducted in two

phases, (a) House listing (b) Population

6. Which of the following is not a feature of good
governance ?

(a) Accountability (b) Transparency

(c) Red Tapism (d) Rule of Law
Ans. (¢) : Red Tapism : refers to excessive regulation or
rigid conformity to formal rules that is considered
redundant and presents decision making.
Feature of good governance are—
Participation
Responsiveness

Consensus orientation
Equity
Strategic vision

R R

Effectiveness and efficiency

7. Who rejected the "Principles of Administration
as myths and proverbs" ?
(a) F.W. Riggs (b) Dwight Waldo
(c) Herbert Simon (d) Frank Marini
Ans. (¢) : Herbert Simon insisted upon 'rationality' in
decision making. He proposed a new concept of]
Administration which is based on purely factural
statements in administrative science.
That is why he calls traditional
administration as proverb & myths.
8. Which of the following is related to the Second
Schedule of India Constitution ?
(a) Representation in the Rajya Sabha
(b) Language
(c) Oath taking
(d) Salaries of important officials
Ans. (d) : There are 12 schedules in the Indian
constitution.
Second schedule lists the emoluments for holders of
constitutional offices such as salaries of president, Vice
president & other important officials.
9. The concept of single citizenship in the Indian
Constitution is inspired by which country ?
(a) Germany (b) France
(c¢) Ireland (d) England
Ans. (d) : The concept of single citizenship in the

concept of

Indian constitution is inspired by England.

10. The authoritative text of the Indian
Constitution in Hindi was authorized to be
published which of the following constitutional
amendments ?
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(a) 57" Amendment, 1987

(b) 58™ Amendment, 1987

(¢) 59™ Amendment, 1988

(d) 60™ Amendment, 1988
Ans. (b): An authoritative text of the constitution in
hindi was provided to the people of India by President.
by 58" constitutional Amendment Oct,1987.

11.

The Chalukya ruler Pulakesin's victory over

Harshavardhana was in year ........
(a) 612 A.D. (b) 618 A.D.
(c) 622 A.D. (d) 634 A.D.

Ans. (b) : Chalukya ruler Pulakesin's great triumph over
Harshavardhan in a battle fought primarily with
elephants, on the bank of Narmada was in year 618
A.D.

12.

Which of the following Sufi order was the most
orthodox ?

(a) Chishti
(c) Sarwari Qadri

(b) Qadiri
(d) Nagshbandi
Ans. (d) : Nagshbandi is a major Sunni spiritual order
of Sufism, which is considered as most orthodox.
13. For which of the following
'Ekabrahmana' has been used ?
(a) Kharavela (b) Susharman
(c) Pushyamitra Sung
(d) Gautamiputra Shatkarni

rulers

Ans. (d) : Gautamiputra Shat karni was the greatest
ruler of the Satavahana Empire (located in present
western deccan)

He is considered to be the destroyer of Pahlavas, Shakas
& Yavanas.

He had the titles of Ekbrahmana, & Agamanilaya.

14.

Who was the first person to be selected for
"Individual Satyagraha" during the Indian
Independence Movement ?
(a) Deshbandhu Chittaranjan Das
(b) Sardar Vallabhai Patel
(c) Dr. Rajendra Prasad
(d) Acharya Vinoba Bhave
Ans. (d) : Acharya Vinoba Bhave was a non violence
activist, freedom activist & spiritual teacher.
He is best known for Bhoodan Movement.
He was the first person to be selected as satyagrahi in
individual satyagraha by. Mahatma Gandhi.
15. Mountbatten Plan (June 1947) provided for a
referendum in which of the following province?
(a) Sindh (b) Punjab
(c) Baluchistan
(d) North—West Frontier Province
Ans. (d) : Lord Mountbatten worked out a detailed plan
for the transfer of power to the Indian people. There
was a plan of referendum in North—west frontier
province because this referendum would decides that
whether it should join Pakistan or not.

16.  Which of the following is not an example of a
metamorphic rock ?

(a) Gneiss (b) Phyllite

(¢) Schist (d) Granite

Ans. (d) : Granite is a type of intrusive igneous rock.
While Geneiss, Phyllite & Schist are the metamorphic
rock.

17.

Stratellite is the

(a) Uppermost band of stratosphere

(b) Lowermost band of stratosphere

(c) High altitude airship positioned
stratosphere

(d) Natural satellite of Jupiter

Ans. (¢) : A stratellite is similar to a satellite, but is

stationed in the stratosphere rather than on the orbit.

Stratellite is a "High Attitude Airship (HAA)" which is

positioned approx 13 miles above the earth.

18.

in the

Mount St. Helens is an active stratovolcano
located in which of the following countries ?

(a) Japan

(b) United States of America

(c) Chile

(d) Italy

Ans. (b) : Mount St. Helens Or Louwala— clough is an
active stratovolcavo located in Washington. It is most
motorious for its on agos eruption (1980) the deadiest &
most economically destructive bolcanic event in the
history of America.

19.

In which Indian state is the Nanda Devi peak
located ?
(a) Sikkim
(b) Himachal Pradesh
(¢) Jammu and Kashmir
(d) Uttarakhand
Ans. (d) : Nanda Devi is a second highest mountain in
India. It is 23rd highest peak in the world.

Location — Chamoli, Uttarakhand.
India shares longest international boundary
with which country ?
(a) Pakistan (b) Bangladesh
(c) Nepal (d) China
Ans. (b) : There are 7 countries that India shares border.
India shares longest border with Bangladesh of about
4096.7 km & India shares shortest border with
Afghanistan of about 106 km.

21.

20.

Which of the following states became the first
to shift to January to December financial year?
(a) West Bengal (b) Uttar Pradesh

(¢) Madhya Pradesh (d) Himanchal Pradesh

Ans. (¢): Madhya Pradesh shifts financial year format
to Jan.—Dec. from present April-March cycle.
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22.  What is the name of satellite that was carried
on-board PSLV-C40 rocket in ISRO's historic
100th satellite launch on 12 January 2018 ?

(a) Cartosat—2C (b) Cartosat—2D

(c) Cartosat—2E (d) Cartosat—2F

Ans. (d) : ISRO completes century with Cartosat—2F
satellite posted jan 12, 2018.

Cartosat—2F the eight satellite in the cartosat series is an
earth observation satellite launched by PSLV-C40
mission.

23. The 'Malabar' is a naval exercise between
which of the following countries ?
(a) India and China
(b) India, Japan and USA
(c) India, South Korea and Japan
(d) India, Bangladesh and Sri Lanka

Ans. (b) : Exercise Malabar is trilateral naval exercise
involving the United States, Japan and India as
permanent partners. Originally begun in 1992 as a
bilateral exercise between India and United States Japan
became a permanent partner in 2015. The 2017 Malabar
exercise was the 2lIst edition of the exercise and
conducted from 10 to 17 July 2017. This edition
focused on Aircraft carrier operations, Air defenses,

ASW etc.

24.  Whom did Rafael nadal defeated to win the US
Open 2017 Men's Singles title ?

(a) Kevin Anderson (b) Roger Federer
(c) Stan Wawrinka (d) Horia Tecau

Ans. (a) : 2017 US open was 137th edition of tensis us

open. The men's single tournament concluded with

Rafael Nadal defeating Kevin Anderson.

25. Whom did Pankaj Advani defeat to win the
Asian Billiards Championship title in year
2017?

(a) Aditya Mehta (b) Manan Chandra
(¢) Subhash Agarwal (d) Sourav Kothari
Ans. : (d) Pankaj Advani 16- time world champion,

has won 7th Asian title by defeating Sourav Kothari by
6-3.

26. "India : The Future is Now" is written by ......
(a) Kapil Sibal (b) Arun Jaitely
(¢) Rajnath Singh (d) Shashi Tharoor
Ans. : (d) "India : the future is Now" is written by

Shaski Tharoor. He is an Indian Politician and a former
diplomat currently serving as Member of Parliament
from Thiruvananthapuram.

27.

Who among the following has received Rajiv
Gandhi Khel Ratna Award in August 2017 ?
(a) Sardar Singh (b) Khushbir Kaur
(c) S.V. Sunil (d) Varun Singh Bhati
Ans.: (a) Rajiv Gandhi Khel Ratna Award is the highest
sporting honour of Republic of India. In 2017
Sardarasingh & Devendra Jhajharia has been awrded.

28. The traditional festival of Losar 2017 was
celebrated in which of the following state ?
(a) Himachal Pradesh (b) Rajasthan

(c) Uttar Pradesh (d) Bihar
Ans. : (a) Losar is a festival in Tibetan Buddhism.
Losar is the festival which is regarded as the most
important socio religious event in Laddakh (Jammu—
Kashmir)
By optional approach Himanchal Pradesh is correct
here.

29.

Which of the following countries have signed
comprehensive anti—terror pact agreement in
November 2017 ?

(a) India and USA

(b) India and Sri Lanka

(¢) India and China

(d) India and Russia

Ans. : (d) India & Russia comprehensive anti-terror
pact agreement for enhancing bilateral cooperation in
tackling all form of terrorism.

30.

The only country in the world whose flag is not
a square or rectangle is
(a) Sri Lanka (b) Bhutan

(c) Maldives (d) Nepal

Ans. : (d) The national flag of Nepal is the world is
only non-quadrilateral national flag. The flag is a
simplified combination of two single pennons. (the
vexillological word for pennonts).

31.

In which of the following the Data Structures
perform an important role ?

(a) Input device (b) Hardware

(c) Program design (d) Logic gate

Ans. : (c) Data structure is logical and mathematical
model to store data. Data structure are used in mot
programming allowing efficient management of large
amounts of data.
32.  What is the full form of 'MAN' in computer
terminology ?
(a) Margin Area Network
(b) Maximinze Area Network
(¢) Metropolitan Area Network
(d) Megabyte Area Network

(c) LAN - local area Network

WAN — Wide Area Network

MAN — Metropolitan Area Network
Which of the following reaction is an example
of exothermic reaction ?
(a) Burning of natural gas
(b) Respiration
(c) The decomposition of vegetable matter into
compost
All options are correct

Ans. :

33.

(d)
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Ans.: (d) Exothermic Reaction :

An exothermic reaction is a chemical reaction that
releases energy by heat. It is opposite to endothermic
reaction.

eg : Burning of fuel. etc.

Ans.: (b) Homogeneous mixture : Mixture that has the
same proportions of its components throughout a given
sample.

Heterogeneous Mixture :
uniform in composition.

Any mixture that is not

34.  Which of the following solution is used in black
and white photography ?
(a) Silver chloride

(b) Silver bromide

(c) Silver iodide

(d) All options are correct

Ans. : (d) Photographic fixer is a mix of chemicals
used is the final step in the photographic processing of]
filon or paper. The fixer stabilizes the image, removing
the unexpected silver halide remaining on the
photographic film or photographic paper, leaving
behind the reduced metallic silver that forms the image.
35.

Which of the following shows exception to the
Octet rule ?

(a) Carbon (b) Boron
(¢) Neon (d) Argon
Ans. : (b) Boron & Aluminum follows the 'sextet

Rule'. and hydrogen & Lithium follows the 'duplat Rule'
other all the element follows 'Octet Rule'.

36.

Which of the following angles are equal in case
of plane mirror ?

I. Angle of incidence

I1. Angle of refraction

II1. Angle of reflection

(a) OnlyTlandII

(b) Only I and III

(¢c) Only II and IIT

(d) All the given angles are equal

(®

Ans. :

i - angle of incidence
r - angle of reflection

In case of plane mirror angle of incidence and angle of
reflection are equal, from the normal.

Refraction is the phenomenon which is seen when a
light changes its medium when light moves from one
medium to another.

37.

Which of the following is a heterogeneous
mixture ?

(a) Solution

(b) Suspension

(c) Both Solution and Suspension

38. Filament of electric bulbs are generally made

(a) nichrome

(b) tungsten

(c) constantan

(d) manganin
Ans. : (b) Tungsten is used exclusively for electric
light filaments because it has lowest coeff. of thermal
expansion, high melting point & good tensile strength.
39.

Which of the following is Fleming's right hand
rule ?

(a) Induced current is directed in the direction of
movement of conductor.

Magnetic field is directed in the direction of
movement of conductor.

Magnetic field is directed in the direction of
induced current

Movement of conductor, magnetic field and
induced current are perpendicular to each
other
Ans. : (d)

e The thumb is pointed in the direction of the motion
of the conductor relative to the magnetic field.

(b)
(©)
(d)

e The first finger is pointed in the direction of
magnetic field. (north to south).

e Then the second finger represents the direction of
the induced or generated current with in conductor.
motion

field «—

W/

current

40. What is the numerical value of temperature at
which Fahrenheit and Celsius scales are equal?
(a) 40° (b) —40°

(c) —34° (d) -140°

Ans. : (b) Formula: F= [Cx%) +32

Putting F=C

C=(Cx%j+32

_—4><C:32
5

(d) Neither Solution nor Suspension

SSC JE Online Civil 2018 (Ex. date 25 1. 2018) 10.15 am

47



41. Which disease is caused by deficiency of
Vitamin B?
(a) Beri-Beri

(¢) Kwashiorkor

(b) Rickets
(d) Scurvy

Ans.: (a) Beri—Beri is a disease caused by a Vitamin B—
1 deficiency which is also known as thiamine
deficiency.

42,

During heavy exercise, we get cramps in the
legs due to the accumulation of ........

(a) carbon dioxide

(b) lactic acid

(c) alcohol

(d) water

Ans. : (b) Muscles cramping is a common problem
encountered by athletes and non-athletes. Traditionally
cramping was believed to be arise from dehydration,
electrolyte imbalance, accumulation of lactic acid or
low alular energy levels.

43.

With which of the following does Haemoglobin
has maximum affinity ?
(a) Oxygen
(b) Carbon dioxide
(¢) Carbon monoxide
(d) Nitrogen
Ans. : (c¢) For Haemoglobin in humans, CO, has a
lower affinity then oxygen, which allows gas exchange
to occur in out lungs.
But CO is problematic for us because it has an even
higher affinity to hemoglobin than oxygen does.
44.  Which of the following is NOT unicellular ?

(a) Euglena

(b) Amoeba

(¢) Paramecium

(d) Hydra
Ans. : (d) Hydras are multicellular organism. They are
the complex animals with a body length ranging from 1
mm to 20 mm.

45.

Which of the following controls the amount of
light entering the eye ?

(a) Iris

(b) Cornea

(c) Aqueous humour

(d) Crystalline lens

Ans. : (a) The iris is the ring of pigmented tissue
surrounding the pupil that varies in colour. The iris
opens & closes to control the amount of light entering
the eye through the pupil.

46.

Which of the following disease is caused by
bacteria?

(a) Tuberculosis

(b) Common-Cold

(c) AIDS

(d) Dengue fever

Ans.: (a) Tuber culosis is caused by bacteria called
'Mycobacterium tuberculosis'.

While commoncold, AIDS & Dengues fever is caused
by Viruses.

47.

Excess of fluoride in

causes........

(a) lung disease

(b) intestinal infection

(c) mottling of teeth

(d) No option is correct
Ans. : (c) If fluoride is less then teeth cavitives are
formed & if fluoride is excessive then motting of teeth.
In drinking water fluoride should be in between 1 mg/lit
to 1.5 mg/lit.

48.

drinking water

Reduce, Reuse and are the three R's to
save the environment.

(a) Rewise

(b) Restore

(c)

Recycle
(d) Recall

Ans. : (c) Reduce :
trash we make.

Cutting back on the amount of]

Reuse : Finding a new way to use trash so that we don't
name to throw it out.

Recycle : Using trash to remake new goods that can
sold again.

49. Fine solid particles or liquid droplets
suspended in air are called .........
(a) Aerosol (b) Emulsion
(¢) Foam (d) Gel

Ans. : (a) An aerosol is a colloid of fine solid particles
or liquid droplets, in air or another gas.

(1) Natural aerosol ...... fog, dust

(2) Anthropogenic haze, particulate air
pollutants.

50. Which among the following ecosystem have

inverted biomass pyramid ?

(a) Marine ecosystem

(b) Grassland ecosystem

(c) Both marine and grassland ecosystems
(d) Neither marine nor grassland ecosystem

Ans. : (2) In an aquatic habitat the pyra mid of biomass
is inverted or spindle.
eg. Lake

large fish

small fish

diatoms
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General Knowledge

1. Bull' and 'Bear' are associated with which of
the following commercial activities?
(a) Banking (b) Share Market
(¢) Corporate Tax (d) Agro-market

Ans : (b) In a share market, share are bought and sold.
The stock market is a share market, however besides
shares of companies, other instruments like bonds,
mutual fund and derivative contracts too are traded in
stock market.

e Bull Market—A bull market is a market financial

situation which is characterized by the investor's
confidence, optimism and positive expectations that
good result will continue. During a bull market,
everything in the economy is amazing like indicates
growing GDP, increasing job etc.
Bear Market—The opposite of a bull market is a
bear market, which is typically characterized with
bad economy, less jobs, recession and falling share
prices. The investor's behaviour during a bearish
market is highly pessimistic as they fear that the
stock will go down and down.

Ans: (c) The 15" Finance Commission was constituted
by the Government of India, after the approval from the
president of India, through a notification in the Gazette
of India in November 2017. Nand Kishore Singh is
appointed as the commission's chairman.

The first Finance Commission was established by
the President of India in 1951 under Article 280 of the
Indian constitution. It was formed to define the financial
relations between the Union and the state governments.

4. Which of the following forms the largest share
of deficit in budget of India?
(a) Current deficit
(b) Revenue deficit
(c) Fiscal deficit
(d) No option is correct

Ans : (¢) A fiscal deficit occurs when a government's
total expenditures exceed the revenue that is generates,
excluding money from borrowings. Deficit differs from

debt, which is an accumulation of yearly deficits.

5. Which one among the following is not a
component of fiscal policy?
(a) Public expenditure (b) Public debts
(c) Taxation (d) Trade

2. What is the meaning of 'Take off stage' in an

economy?

(a) Stage of growth

(b) Stage of stagnant

(c) Stage of collapse

(d) Stage of diminish
Ans : (a) In 1960, American economist Walt Whitman
Rostow published his economic growth model. The
model postulates that economic growth occurs in five
basic stages of varying length. (1) Traditional stage,
(i1) Transitional society, (iii) Take-off stage, (iv) Mature
stage, (v) Age of high mass consumption.

Take-off stage is a stage of growth. At this stage
urbanization increases, industrialization proceeds,
technological break throughs occur. Secondary (goods-
producing) sector expands and the ration of secondary
v/s primary sectors in economy shifts quickly towards
secondary.

Ans : (d) Fiscal Policy Components:
(1) Financing:

o Taxes e Borrowing e Others
(2) Composition of spending :

o Carrent goods & services

¢ Public investment
(3) Government Expenditure :

¢ Spending + transfer pay ments + payment on debt.

6. When was the name of Madras State changed
in Tamil Nadu?
(a) 1956 (b) 1968
(c) 1969 (d) 1967

Ans : (¢) On January 26, 1950, Madras state was
formed by the government of India. As a result of 1956
states reorganisation Act, the state's boundaries were re-
organised following linguistic lines. The state was
finally renamed as Tamilnadu on 14 January 1969 by
C.N. Annadurai cheif Minister from DMK.

3. Who has been appointed as the chairman of
15™ Finance Commission?
(a) Vijay Kelkar
(b) Arbind Pangarhia
(¢) N.K. Singh
(d) C. Rangrajan

7. Who among the following had the shortes
tenure as Indian president?
(a) Shankar Dayal Sharma
(b) Pranab Mukherjee
(c) Pratibha Patil
(d) Dr Zakir Hussain
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Ans : (d) Dr. Zakir Hussain was 3" president of India
(from 13 may 1967 to 3™ May 1969). He was the first
muslim president of India. In 1963, dr. Zakir Hussain
was awarded the Bharat Ratna, India's highest national
award.

Dr. Zakir Hussain was also the shortest serving
president of India. He was also the first president to die
in office. He was co-founder of Jamia Milia Islamia.

8. Which of the following was elected unopposed
as the president of India?
(a) Dr Rajendra Prasad
(b) Neelam Sanjiva Reddy
(c) Gyani Jail Singh
(d) Pratibha Patil

Ans : (b)

e Neelam Sanjiva Reddy was the sixth president of
India. He belongs to Andhra Pradesh and was also
the fist Cheif Minister of Andhra Pradesh.

e Neela Sanjiva Reddy was the youngest president of
India, served from 1977 to 1982.

e He was elected unopposed and got unanimous
support from all parties including the congress.

e He worked with three prime ministers — Morarji
Desai, Charan Singh and Indira Gandhi.

9. Which Schedule of the Indian Constitution is
related to the languages of India?
(a) 7™ schedule (b) 8™ schedule
(c) 9" schedule (d) 10™ schedule

Ans : (b)

e As per Article 344 (1) and 351 of Indian
constitution, the eighth schedule includes the
recognition of the 22 languages.

e Initially Eighth schedule had 14 languages.
Assamese, Bengali, Gujrati, Hindi, Kannada,
Kashmiri, Malayalam, Marathi, Oriya, Punjabi,
Sanskrit, Mamil, Urdu.

e Later 8 other lenguages added. Now it becomes 22
languages.

In the Constitution of India, promotion of
international peace and security is mentioned
in which of the following parts?

(a) Fundamental Rights

(b) Preamble

(c) Directive Principles of State

(d) None of these

Ans : (¢) Article 51, in part IV of the constitution,
which is the "Directive Principles of State Policy", talks
about the promotion of International peace and security
and maintaining just the honourable relation between
nations.

The article also talks about fostering respect for
international law and treaty obligations and to
encourage settlement of inter national disputes by
means of arbitrations.

11.

10.

Buddhism was divided into Mahayana and
Hinayana during the reign of which of the
following rulsers?

(a) Kanishka (b) Chandragupta I1
(c) Ashoka (d) None of these

Ans: (a) Kanishka I, or Kanishka the great was an
emperor of the Kushan dynasty in the second century.
He was famous for his military, political and spritual
achievements.

He was also a liberal patron of Indian art and
literature. During the reign of Kanishka, the Buddhism
was divided into Mahayan & Hinayana.

e Hinayana:—Follows the buddha's teachings exactly.
e Mahayana:-They  beleive  that individual
interpretion is important.

12.  Which of the following Harppan sites is
thought to have direct sea trade links with
Mesopotamia?

(a) Dholavira (b) Lothal

(¢) Kot Diji (d) Ropar

Ans : (b) Lothal is one of the southern most cities of the
ancient Indus valley civilization, located in the modern
state of Gujrat. As per ASI (Archaeological survey of
India), Lothal had the world's earliest known dock,
which connects the city with the Mesopotamia.

13.  Which of the following sultans of the sultanate
of Delhi transferred his capital from Delhi to
Agra?

(a) Sikandar Lodi

(b) Qutbuddin Aibak

(c) Alauddin Khilji

(d) Muhammad Bin Tughlaq

Ans : (a) Sikandar Lodi has been accepted as the ablest
& greatest 'Lodi' Saltan. He was the brave and dauntless
general. He was known for impartial justice.

City Agra was founded by him. And he transfared
the capital of Delhi sultanate from delhi to Agra.

14. 'Who was elected the Congress president after
the end of the Tripuri crisis?

(a) Pattabhi Sitaramayya

(b) Sardar Vallabhbhai Patel

(c) Dr. Rajendra Prasad

(d) Abul Kalam Azad

Ans : (c¢) In the 1938, Haripura session of INC held,
Subhash Chandra Bose won the presidential election. In
the next year, 1939, the session of INC was held in
Tripuri, in this Bose decided to stand again for the INC
president election. Gandhi put forward his candidate of
Andhra leader Pattabhi Sitaramayya, for the president
of tripuri session. Subhash chandra Bose won that
election. But Gandhi did not like this. Congress
working committee was with Gandhi and they resigned.
This act of congress working committee was distressing
for Bose. So he left congress and found 'FOR WARD
BLOCK' in Calcutta. This was known as Tripuri Crisis.
The place of Subhash Chandra Bose was filled by Dr.
Rajendra Prasad.
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